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UGC NET PAPER 2 MARCH 2, 2021 SHIFT 1 LABOUR WELFARE AND INDUSTRIAL RELATIONS QUESTION PAPER

Topic:- Labour Welfare Set1_A

1) Which one of the following frameworks emphasizes the positive and free-will aspects of

human behaviour and utihses concepts such as expectancy, demand and incentive in
explaining the complexities of human behaviour in organisations?

(1) Behawiouristic framework (2) Social learming framework

(3) Organisational learning framework (4) Cognitive framework

freafeftaa 4 9 =0 @ BHTF T 0 AME SRR $i Ateedist #l S T H OAFE SHEER ®
YRR AR TTI-TATGT Taqell W o 3a1 & a9l S, i 7R Wehre Sl STaguonat = S0

FAT 27
() IR 9T (2) WIS AT AT
(3)  TESATTF ST HUTE (4) TIETAF FHE

[Question ID = 5028][Question Description = Q01_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20112]
2. 2 [Option ID = 20113)
3. 3 [Optien ID = 20114]
4. 4 [Option ID = 20115]

2)  Which one of the following 1s NOT related to job specification?
(1 Hazards (2) Job tfitle
(3) Physical efforts (40 Working condition

Frafaftaa ¥ @ #n Fri-faFde @ dafte @i 27

1 =R Q) = =AW
(3 =it s (4) vt e ety

[Question ID = 5029][Question Description = Q02_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20116]
2. 2 [Optien ID = 20117]
3. 3 [Option ID = 20118]
4. 4 [Option ID = 20119]

3)  Which section of the Factories Act, 1948 requires the manager of every factory to maintain
register of adult workers?
(1 Section 60 (2) Section 62
(3) Section 64 (4) Section 73

HREET U, 1948 # g U0 % 27ld UchS SR F TEUF B TUCH HER hT qraeT W
TETEE T B 2 7

1) om60 2 = 62
(3) oW 64 (4 = 73

[Question ID = 5030][Question Description = Q03_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20120]
2. 2 [Option ID = 20121]
3. 3 [Option ID = 20122]
4, 4 [Option ID = 20123]
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4 The primary purpose of which of the following is to protect minimum labour standards and

1mprove working conditions?

(1) Protective Labour Legislation (2) Regulative Labour Legislation
(3) Soclal Security Legislation (4) Wage Legislation

fre=fafaa @ & Pras moftes Seva =jan 5m aEsl 1 0 B 3 FE sl IRy § guR w5 2 ?

(1)  =aTEs 40 g @ s am faas
(3) IS FRET faum (4) gl = faum

[Question ID = 5031][Question Description = Q04_Laborwel_SHAAN_05Dec21_52_5hift2]
1 [Option ID = 20124]
2 [Gption ID = 20125]
[Gption ID = 20126]
]

1.
2.
3.3

4. 4 [Option ID = 20127

3)  Who among the following is empowered for framing of model rules for safety measures under

the provisions of the Building and Other Construction Workers' (Regulation of Employment
and Conditions of Service) Act, 19967
(1) The State Government (2) The Director-General

(3) The Central Government (4) The Central Advisory Committee

Frafafaa 9 o =9 we va ofemio SR (TR w1 et o gar f ud) situfem, 1996 % sraa
T U % SUed e & fFmim % fow witepa 27
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[Question ID = 5032][Question Description = Q05_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20128]
2. 2 [Option ID = 20129]
3. 3 [Optien ID = 20130]
4. 4 [Option ID = 20131]

o) How much space per worker 1z required to avoid overcrowding in a factory, as per the

provisions of the Factories Act, 19487
(1) 14.2 cubic meter (2) 14.6 cubic meter
(3) 16.2 cubic meter (4) 16.4 cubic meter

HR@HET A, 1948 % 3yagl = HFUR Hr@H 4 9ig O 9=+ % fow ufd sorm fa @ e

e 27
(1) 14.2 9= Hi (2) 14.6 77 i@
(3) 1627 Hizx (4 16.4 =7 dizx

[Question ID = 5033][Question Description = Q06_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20132]
2. 2 [Option ID = 20133]
3. 3 [Option ID = 20134]
4, 4 [Option ID = 20135]

7)
Which Article of the constitution of India upholds to secure and protect a social order which

stands for the welfare of people as a Directive Principles of State Pohcy?
(1) Article 20(c) (2) Article 38(1)
(3) Article 24(c) (4) Article 18(c)

aE & ST T Ag 1T s ssE ST eaaisT i giEes oy meiias s ) = HE SIET 2 S =
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[Question ID = 5034][Question Description = Q07_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20136]
2. 2 [Option ID = 20137
3. 3 [Option ID = 20138]
4. 4 [Opticn ID = 20139]

8) Comparative cost advantage in Heckscher-Ohlin's International Trade Theory, arises due to :

(1) Differences in factor endowments (2) Absolute cost advantages

(3) Economies of scale (4) Relative cost advantages

THE- 3R % SIS ST faguid § qerTed AT oy R hRer oo B 2 7

(1) =% 924 | e (2) TRYN orE omw
(3 faaeafEa =1 = (4) qEHATHH @r T

[Question ID = 5035][Question Description = Q08_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20140]
2. 2 [Option ID = 20141]
3. 3 [Option ID = 20142]
4. 4 [Option ID = 20143]

%) A means of getting better results from organmisation team and individual by understanding

an agreed framework of planned goals. objectives and standard is termed as :

(1) Performance Planning (2) Performance Management

(3) Performance Appraisal (4) Performance Development

i @e, S2val va wEehl i TEHa ST B AW 5 TS a9T SAfGa @ sEat inE I 6 Are

FEeATdl & —
(1) Frare s (2) FoIEa =
(8) oI FeEr (4) Froea gagA

[Question ID = 5036][Question Description = Q09_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20144]
2. 2 [Option ID = 20145]
3. 3 [Option ID = 20146)
4. 4 [Option ID = 20147]

10 : i . . ;
) An analysis by which an organization measures where it currently stands and determines

what 1t has to accomplish to improve its HR functions 1s called :
(1) HR Accounting (2) HR Chmate
(3)  HR Audit (4) HR Consultant

g8 faseiur e gRT PIE WIS U8 3dHem d] & [ 909 5 98 Fel J1afed & 31k g8 RuafRa a=ar 2
fa 5@ FaT UTed AT 8, TP og 9 ST AHI-FHRIT b Bl P A UBR GIRAT 2~ BgT Il 82

(1) 71T THmEeT 3ide (2) wFa TR qTTERo

(3) 99 EER™A ol (4) w9 HERE wEd

[Question ID = 5037][Question Description = Q10_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20148]
| 2. 2 [Optien ID = 20149]
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| 3. 3 [Option ID = 20150]
4. 4 [Option ID = 20151]

11)  As per the provisions of the Industrial Employment (Standing Orders) Act. 1946 the standing

orders shall come into operation on the expiry of how many days from the date on which
authenticated copies are sent to the employers and workers representatives :

(1) Fifteen days (2) Thirty days
(3) Sixty days (4 Seven days

e aem (T oem) afuFEm, 1946 % TEYEl % AR E ey 38 i i g =
fepamr faat % =g =y g s vl wfead feiean s s sfeffe = 90 o8 -

1) TR 2 @@
(3 WeA (4 =& TE

[Question ID = 5038][Question Description = Q11_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20152]
2. 2 [Option ID = 20153]
3. 3 [Option ID = 20154]
4. 4 [Option ID = 20155]

12 5 i A
) Taking into account the characteristics of transnational managers given by Bartlett and
Ghosal, the transnational managers are distinguished 1n three different management forms.
Which one of the following 1s NOT included in the three forms of management?

(1) Global business management (2) Worldwide functional management
(3) Geographic subsidiary management (4) Top-level corporate management

AR AT T g A T WY e ) RRwae ey 5 WO e % dF ofem- s '
fufrea e e 3 | Ferferfige 3 @ 4 a1 sutiaa &9 gopr % weigAl § iy 98 27

(1) g =R gsam (2) AfFas SFECHF JAH
(3) WMo weEE yaud (4) =3 i Fofim v

[Question ID = 5039][Question Description = Q12_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20156]
2. 2 [Option ID = 20157]
3. 3 [Option ID = 20158]
4. 4 [Option ID = 20159]

13)  As per the provisions of the payment of wages Act, 1936, when any deduction is made by an
employer, the employvee shall make application to the authority for recovery of the same
within a maximum period of which of the followings?

(1) Three months (2) Bix months

(3) Twelve months (4) Two years

Togll g fufm, 1936 = Sueyi % IR o TR P g wis wadt Fi St g ar el
Frefataa 9 o arfirman g omfd & ofier soefi a9l & fore mfteert = Twer eTEeT =om ¢

(1) dA7AE (2) @ WAE
(3) FE AR (4) gad

[Question ID = 5040][Question Description = Q13_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20160]
2. 2 [Option ID = 20161]
3. 3 [Optien ID = 20162]
4. 4 [Option ID = 20163]

14) " The term ‘CE-RO-AC-AE’ explained as concrete experience-reflective observation-Abstract

conceptualization-active experimentation is associtated with which of the following?

(1) Kolb’s cyclic model of learning (2) Huber's organisational learning model

(3) Senge’s generative learning model (4) Argyrs's ‘double-loop’ learning model
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frerfafaa 3 @ fFed ‘5 - e ol - Tt - v g ug fil = youy ST - Edt e - Rue
TSTHATCHT HFCHT — TnT SArToIddl & €9 ° TG 27
(1)  hics =1 1MW =1 whE Az
(2) T F WEAHF AU "isA
(3) TS =71 IcuEs Siirm Aigd
(4 AT W TAA-TM SATFME HisA
[Question ID = 5041][Question Description = Q14_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20164]
2. 2 [Option ID = 20165]

3. 3 [Option ID = 20166]
4. 4 [Option ID = 20167]

13) Which one of the following i1s NOT related to off-the-job traiming?
(1) Multiple management (2) Management games
(3) Sensitivity training (4) Special projects

ffafiaa © ¥ F59 5 SA-S-T1E F U | weith T8 2 7

(1) Sglased @ (2) vE9F UEE
(3)  Tfzan wivtEo (4 foum afeearn

[Question ID = 5042][Question Description = Q15_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20168)
2. 2 [Option ID = 20169)
3. 3 [Option ID = 20170]
4. 4 [Option ID = 20171]

16) ‘ . : : :
Who 1s considered as the piloneer to introduce Human Resource Development Conecept In
India?

(1) Prof. T.V. Krishnamurthy (2) Azimji Premj
3 Udai Pareek and T.V. Rao (4) N.R. Narayanmurthy

WA | AT GEEH e 9iHeEn i et F 9 215G % w9 H e S s 8 7

O A i Fem () IS el
() I YIH ug -t 19 (4) TA. IR, AREOGE

[Question ID = 5043][Question Description = Q16_Laborwel_SHAAN_05Dec21_582_Shift2]
1. 1 [Option ID = 20172]
2. 2 [Option ID = 20173)
3. 3 [Option ID = 20174)
4. 4 [Option ID = 20175]

17)  Which among the following 1s NOT a component of accident?

(1) Unplanned event (2) Loss of human life or personal injury
(3) Damage to property (4) Warranted event

Frferfiaa & @ =i geeAT = ueH AE 27

(1) it ge (2) drFa SR H T AgEr daftde =i

(8) @l = THEE (4) 3=3a Te

[Question ID = 5044][Question Description = Q17_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20176
2. 2 [Option ID = 20177)
3. 3 [Option ID = 20178]
4. 4 [Option ID = 20179]
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18)

Read the statement given below :

Ifthe workers have no staying power and the only alternative to work is starvation, the
supply of labour will be in general :

(1) Perfectly inelastic

(2) Perfectly elastic

(3) The supply will fluctuate from inelastic to elastic

4 The statement in itselfis wrong

fr=feafiad =y =1 ug -

A% FIFIR U8 SfeA-Tag 1 @=ar 9 3 3R T W THAA ey yEEd w1, O uea: am

Fmgfe grfi-

(D
2
(3)
@

Yo ST
TE.TI'H: . [
MY W e ¥ Areie 9 GEer g

FIT T STEE B |

[Question ID = 5045][Question Description = Q18_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20180
2. 2 [Option ID = 20181)
3. 3 [Optien ID = 20182]
4. 4 [Option ID = 20183]

19)

What 1tems are typically included in the Job-Description?

(1) It is a written statement about the wage and salary administration
(2) It 13 an oral instruction about the standing order of the organisation
(3) It 1s a written statement of what the worker actually does

(4) It 1s an oral instruction about the Job to be performed

M % a4 e wel = fafte w9 9 i fen s 20

(1)
2
3
@

=g Aeigll 3 °aa = g & an 4 v fafgs 7 2
T WIS T AW H G I T Wi AT B
HIET ATedd H F) al 8, T8 U feillad a2 |

e oI T T F AR § T8 O S e 2 |

[Question ID = 5046][Question Description = Q19_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20184]
2. 2 [Option ID = 20185]
3. 3 [Option ID = 20186]
4, 4 [Option ID = 20187]

20)

According to the book “The Third Wave' which one of the following is related to third wave?

(1) The Agricultural revolution that transformed the human history
(2 The Industrial revolution that transformed the soclety

(3) The Technological and social change that transformed organisations, societies and
economies

(4 The Environmental change that transformed the entire business world and market

T 2 US98 % oFER, Fefafaa 3 9 e us aa § weiia 3 7

(1)
2)
(3
(4)

e it wmfis agemg frem gt surs st w1 sgawarett #i ufatia = fo)
AT FeE e R [ SR S @R SR B T R e |

prepp

Your Personal Exams Guide



Www.prepp.in

[Question ID = 5047][Question Description = Q20_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20188]
2. 2 [Option ID = 20189]
3. 3 [Option ID = 20190]
4, 4 [Option ID = 20191]

21)  Which of the following concept determines the activity status of a person with reference to a

period of proceeding seven days?

(1) The usual status (2) The current weekly status
(3) The current daily status (4) Chronic unemployment

Frefeifiaa & @ -t gepewn wadl aa B i sty & ded o Bedl oafda R el-smEen = Fuifa

27
(1) 9= FAgen (2) it TaTtEs e
(8) TSl & T (4) T SU=TRY

[Question ID = 5048][Question Description = Q21_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20192]
2. 2 [Option ID = 20193]
3. 3 [Option ID = 20194]
4. 4 [Option ID = 20195]

22)  The finance for Social Assistanceis generally provided out of the general revenues of
(1) Emplover (2) Political parties
(3 Government (4) Allthe above

qrEIfr ARt &g @ [ % wEeE eash e v 4 o e smar 27

(1) T (2) usHitg® 2=
(3) TR (4) SwTa wH

[Question ID = 5049][Question Description = Q22_lLaborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20196]
2. 2 [Optien ID = 20197]
3. 3 [Option ID = 20198]
4. 4 [Option ID = 20199]

23) i i : ; e 3
In which year Joint Consultative machinery and Compulsory Arbitration in Government

Department was established?
(1 1956 (2 1959
(3 1962 (4) 1965

el a9 el fasm # g owerenht 9% SR stFAm farem 93 6 wne o g ofi 7

(1) 1956 (Z2) 1959

(3) 1962 (4y 1965
[Question ID = 5050][Question Description = Q23_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20200]
2. 2 [Option ID = 20201]

3. 3 [Option ID = 20202]
4. 4 [Option ID = 20203]

24 . . a : ¢ 7
) The 1necrease 1n unemployment that occurs durlng recession and depression is called :

1 Frictional unemployment (2) Structural unemployment

(3) Cyclical unemployment (4) Seasonal unemployment
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T 79T et = A ST | g1 arefl gfg wean B -

(1)  HouieT® S (2) TEATHS SIS
(3)  whF AU (4) drgd T

[Question ID = 5051][Question Description = Q24_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20204]
2. 2 [Option ID = 20205]
3. 3 [Option ID = 20206]
4. 4 [Option ID = 20207]

25) Under which section of the Industrial Disputes Act. 1947 a refrenched workmen can be given

an opportunity to re-employment?

(D Section 256H (2) Section 25G
(3) Section 25F (4) Section 25C

A e afafem, 1947 $i frg o/ % oieia o Simed SRR F FREeE S STEE 9EH
P ST gpaT 27
(1) gm25t= (2) um 25 S
(8) U 25 TE (4 925
[Question ID = 5052][Question Description = Q25_Laborwel_SHAAN_05Dec21_52_Shift2]
. 1 [Option ID = 20208]
. 2 [Option ID = 20209]

1
2

3, 3 [Option ID = 20210]
4. 4 [Option ID = 20211]

26)
When workers remain 1n their place of work, but they stop work for a brief period of a few

minutes or a few hours it 1s called

(1) slow-down strike (2) sit-down strike
(3) quickie strike (4) work to rule

TE TR 39 FE-TUA W E, Wy DS 52 AYT T T a5 Sl a1 5 o w9 o E, a@

Tz el & -
1) T S TEF @) fr-T T
® o R @) TH-z-F

[Question ID = 5053][Question Description = Q26_Laborwel_SHAAN_05Dec21_52_Shift2]
. 1 [Optien 1D = 20212]
2 [Option ID = 20213]
3 [Option ID = 20214]
. 4 [Option ID = 20215]

oW =

27)
Which one of the following is not sub-processes of collective Bargaining negotiation according
to Walton and McKersie?

(1) Distributive Bargaining (2) Integrative Bargaining

(3) Intra organisational Bargaining (4) Concession Bargaining

aTeed A i % egEr Fefafan 3 @ w gmfs gidmia ot 1 su-utEn T8 2 ¢

(1) oo g (2) TuTHRIA e
(3)  Iq:HISATCHH i (4) IS HidFila
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[Question ID = 5054][Question Description = Q27_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Optien ID = 20216]
2. 2 [Option ID = 20217)
3. 3 [Option ID = 20218]
4, 4 [Option ID = 20219]

202 “Scheduled employment” referred to in section 12 of the Payment of Bonus Act. 1965 means

the scheduled employment stated in which one of the following legislations?

(1) The Payment of Wages Act (2) The Industrial Disputes Act
(3) The Minimum Wages Act (4) The Payment of Bonus Aect

ST TEA ATaFEm, 1965 Hi am-12 ¥ waia argia FEem w5 smem et e fem g g

Tl o 1 aftig syt s 3 27
()  Avgh Tg@ fafem (2) i e afafem
(3) =W weigll Aty (4) w9 gem Ayt

[Question ID = 5055][Question Description = Q28_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20220]
2. 2 [Option ID = 20221]
3. 3 [Option ID = 20222]
4. 4 [Option ID = 20223]

23) What is the time limit for payment of wages, in case of termination of employment of an

emplovee. as per the provisions of the Payment of Wages Act, 19367

(1) Before the expiry of the second working day from the day on which his emplovment is
terminated

(2) Before the expiry of two months after the day of termination
(3) Before the expiry of the second working day of the next wage period

(4) On the last day of the wage period on which the employee was terminated from
empolyment

Tl WeE AfatEm, 1936 % Suedl % SEER, TR FHEW % FEeE % T % amd 0 ool %
e i geE - P 2 e
1)  S@b FEeA i gaia 5 g sE-feam 6 wnfa @
@) 3wk FEeA % aere % uver @ ure 6 ami ¥ @
3)  oveh megh sty = fdi wrt fam & wwfa @ gl
@)  FEN F FEeE gt = aegd waty % eifom fmm g
[Question ID = 5056][Question Description = Q29_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20224]
2. 2 [Option ID = 20225]

3. 3 [Option ID = 20226]
4. 4 [Option ID = 20227]

. The cost of living index number 1s taken into account in connection with which of the
following acts?
(1) The equal remuneration act (2) The payment of bonus act
(3) The minimum wages act (4) The payment of wages act

farte geers =1 o 7 o Fra atffem % ded o war s 27
(1)  wam it srtfEm 2 «FE vem afyfem
(3)  =maw wugd IiHtEm (4) G wem srtatem

[Question ID = 5057][Question Description = Q30_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20228]
2. 2 [Option ID = 20229]
3, 3 [Option ID = 20230]
4. 4 [Dption 1D = 202311
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31)
What should be the mimimum size of number of representatives in the Joint Management
Council?
(1)  Six only (2) Eight only
(3) Twelve only (4) Sixteen only

T yaeE uftag 7 wfaftemt =i =gaan @ 7 g e
(1) =Had & (2) Hae AP

(3) had AR (4) b Giog

[Question ID = 5058][Question Description = Q31_Laborwel _SHAAN_05Dec21_52_5Shift2]

bl B

32)

. 1 [Option ID = 20232]
2 [Option ID = 20233]
. 3 [Option ID = 20234]
. 4 [Dption ID = 20235]

In which vear the federation of Indian Chambers of Commerce and Industry (FICCI) was
formed?

(1) 1881 (2) 1905
(3 1927 (4 1931

for o giom e Sfeam <md o1ie wmY Ug seRdl (Theht) =m1 w1a T e an?

(1) 1881 (2) 1905
(3) 1927 (4) 1931

[Question ID = 5059][Question Description = Q32_Laborwel _SHAAN_05Dec21_52_Shift2]

1.

1 [Option ID = 20236]

2. 2 [Option ID = 20237
3. 3 [Option ID = 20238
4. 4 [Option ID = 20239]

33)

[

1:

7
3,
4,

34)

In which Industrial Policy Resolution the following statement 1s given?

“In a socialist democracy. labour is a partner in the common task of development and should
participate in it with enthusiasm”?

(1) The Industrial Policy Resolution, 1947

(2) The Industrial Pohcy Resolution, 1948

(3) The Industrial Policy Resolution, 1951

(4) The Industrial Policy Resolution, 1956

e sitaes it 3 P Fo w1 deen B T 27

“aureErdl weEa ® At e F om0 wrfigr 2 o S8 g Scaie % o gfasfar e

=z’ ?

(1)  afieAnes fifd gheq, 1947 (2) siearies ifd Tweq, 1948
(8) it Hifa we9, 1951 (4) sfeafirs Hifa gweq, 1956

Question ID = 5060][Question Description = Q33_Laborwel_SHAAN_O05Dec21_S2_5Shift2]
1 [Option ID = 20240]
2 [Option ID = 20241]
3 [Option ID = 20242)
4 [Option 1D = 20243]

Which approach suggests that there i1s no best way to handle any of the management
problems and there is no best organisational structure to suit all situations?
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(1) Quantitative approach (2) Contingency approach
(3) System approach (4) Behawvioural approach

H-a1 g 7% g 2 6 weea ) el avenet 4 Fued = g saw aet @ 2 sfi e ot feafa
% ITET BT SPY WISICHF WL T8 B 7

(1)  AHEcE R (2) sTwiEEs Emm
(3)  HEEATTE FEH (4) =TEERT g

[Question ID = 5061][Question Description = Q34_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20244]
2. 2 [Option ID = 20245]
3. 3 [Option ID = 20246]
4. 4 [Option ID = 20247]

42) Control involves evaluation of inputs and taking measures before a particular sequence of

operations 1s completed 1s called?

(1) Feed back control (2) Concurrent control
(3) Feed Forward control (4) Historical control

Frr & 21ma g 3R W o R fafite s = gl O qd e 9 aren S, e 2

(1) = frem (2) wHa!
(8) fig wraE FEEm (4) ufveis feEor

[Question ID = 5062][Question Description = Q35_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20248]
2. 2 [Option ID = 20249]
3. 3 [Option ID = 20250]
4. 4 [Option ID = 20251]

36
! Who suggested a comprehensive social system approach to management?
(1) Laurence Peter (2) Mary Parker Follet
(3) Elton Mayo (4) Chester Barnard

forem e =l s vy At @ % g @ gae et

1) " © T wReR
(3)  Uwed HM (4) =R TS

[Question ID = 5063][Question Description = Q36_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20252]
2. 2 [Optien ID = 20253]
3. 3 [Option ID = 20254]
4. 4 [Option ID = 20255]

37 : oy ;
) Taylor advocated functional foremanship 1s to introduce :

(1) Standardisation (2) Work study
(3) Specialisation (4) Motion study

2o gr T foar T whmiea Breres Aqer (Paeme AR fRudh westa e % fog 27

(1) WA (2) = JATFH
(3)  Terrdior 4 7fa reEm
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[Question ID = 5064][Question Description = Q37_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Optien ID = 20256]
2. 2 [Option ID = 20257)
3. 3 [Option ID = 20258]
4, 4 [Option ID = 20259]

A8 “The belief that conflict is a natural and inevitable outcome in any group” i1s associated with

which of the following?

(1) Human relations view of conflict (2) Traditional view of confhict

(3) Interactionist view of conflict (4) Modernistic view of conflict

“orz forramm T derd frdli oo 1 o vl staETE oftomm 27 FPeefafas d 8 fea deta 27

(1) To9 = AT HEY e (2) TIH = TORIW B
(3  Tud W STqEaEl g (@ Tod = sngeRdaTdr Zim

[Question ID = 5065][Question Description = Q38_Laborwel _SHAAN_05Dec21_52_Shift2]
. 1 [Option ID = 20260]
2 [Option ID = 20261]
. 3 [Option ID = 20262)
. 4 [Dption ID = 20263]

e ld B

39)  Explaining motivation as a psychological process which of the following suggests that
“Performance leads to satisfaction™

(1) Herzberg's two factor theory (2) Vroom's expectancy theory

3) Porter-Lawler Model (4) Adam’s Equity Theory

FRPR 6T R [ D UiHdT & §Y A H g¢ AT Red ~ ¥ HH 98 Ge7a sara & A
T AgR UM AT A

(1) &g ®r B-ucs ST (two factor) (2) q& B U R (Expectancy)

3  U-dlax e (Fige) (4) TS ARG B Ngid Equity)

[Question ID = 5066][Question Description = Q39_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1

[Option ID = 20264]
2l

[Option ID = 20265]
3.3

[Option ID = 20266]
4. 4

[Option ID = 20267]

40) Leader-Member relationship, degree of structure and leaders position, power are dimensions

of which of the following leadership theory?
(1) Group exchange theory (2) Contingency theory
3) Path-goal leadership theory (4) Trait theory

Fafefiaa o @ Feo g fogia § gca-Tew we, 9 % 9iuM, A9 # foufa, wfe v s

Iodd 27

(1) =9z fabhm fmgr (2) rHfERa W Ege

(3)  ari-wa Agea w1 fuga (4) femivar = fagma

[Question ID = 5067][Question Description = Q40_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20268]
2. 2 [Option ID = 20269]
3. 3 [Option ID = 20270]
4, 4 [Option ID = 20271]
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41)

Consider the following statements under the Mimmum Wages Act, 1948 and identify the
combination of false statements.

(A) In relation to any schedule employment, only the State Government is deemed to be
the appropriate government

(B) A person who engages workers through another person, like a contractor is not
deemed to be an employer

C) “Wages” doesnot include the value of any house accommodation but include house
rent allowance

M)  “Schedule employment” means an employment specified in the schedule under the act

Choose the correct answer from the options given below :

) (A). B only
(® (). only
(3  (A).(C)only
@ (O, (®)only

=g Aol wifafem, 1948 % stavia Fefafiad w5t @ faar = ol e weEl % g e o

(&) B saghm FEeE F 99 § $ad T59 G0R T TR 5 9 | 59 7 |

(B) i3 =afad & (S%haR 1 aE) =9 =Afd = HIAN © T H FEeE w2, e @ oamn
ST |

© CHwgh’ o R sTendiE-saaen = 9e9 Wit A6 2ial & W 98 9 GRE 9 miEe g
21

@) yagha FEeR @ eel-te fEee 9 2 afifem % st sy 3 e 2

H fow o famwedt § ¥ T SR 1 T BT

(1)
(3)

(), (B) (2) Faw (B). (D)
%ast (A), (C) (4 @ast (C), (D)

[Question ID = 5068][Question Description = Q41_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20272]
2. 2 [Option ID = 20273]
3. 3 [Option ID = 20274]
4. 4 [Option ID = 20275]

42)

Which three of the following are the main objectives of performance appraisal?

(A) Improving the job performance and identify potentialities of employees
(B) To 1dentify the needs and areas for further training of the employees
(O To promote the grievances among the employees

(D) To make the compensation plan move rationally linked with performance

Choose the correct answer from the options given below

(1) (&), (B)and (C) only
2 (A), (B) and (D) only
3 (B). (C) and (D) only

4 (A, (C)and (D) only

FHogtes qearH % gea SeevEl & fog Fefafiga d @ 9 i Agcegl 37

(A4)

FEFUIE H GUR 31 =it = auast =i ggEE e |
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(B)  FHiE F SRR qfam % foe sTavTmaren SR 8 1 TR w0 |
(C)  FHaTE % sie Rl 1 G99 TG0

(D)  wivyfd am =t Fenea % @ geag =d gL Ifeamea s

2 v o fasedt 1§ T8l SO S = Fire

() =a= (A), (B) 31X (C) 2 FEA (A). (B) &R (D)

(3)  ad (B). (C) 3 (D) @) Faa (A), (C) R (D)

[Question ID = 5069][Question Description = Q42_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20276]
2. 2 [Option ID = 20277)
3. 3 [Option ID = 20278)
4, 4 [Option ID = 20279]

43)

Consider the statements 1n connection with the deductions which may be made from wages

under the provisions of the payment of wages Act, 1936

(A) Deductions for absence from duty
(B) Deductions for house- accommodation supplied by the employer

(C) Deductions for payment to cooperative societles as approved by the appropriate

governments
(D) Deductions for payment to the Emplovee Welfare Fund

(E) Deductions made with written authorisation of the employed person for contribution
to the Prime Minister's National Relief Fund

Choose the correct answer from the options given below :

1) A, (C) (D).(E) only
2 (A B (O).(D)only
3 A).B) (O).E)only
(49 (B, (C) (D).(E) only

Torgdl weE AfafEm, 1936 F WEaHl % SIad Tegh B ¥ il T FAE ® wag 0 e s W fEr

i

i

(A) FE T R ¥ o # E w

(B) Tl g0 SToY W TE SAETHME glaen & w=a 9 6 T Hewi|

(C) sl wifE F1 agfaa @R g 3 SFiad ) TE YTaE % way 1 i T8 Fd |
(D) AR Foam i % e T U yam % @6y 8 w2 |

(B) wareh T geran i § otmed & fon feifia ==fa 5 fafga wlter 8 4w =26
A f3u 7u fampeql o @ wEt SO% R = i

(1) =79 (A). (0. D). (B 2 =+ A), B). (O), D)

(8 = (A). B), ). (E) @ F=a @), (C). D). (B)
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[Question ID = 5070][Question Description = Q43_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20280]
2. 2 [Option ID = 20281]
3. 3 [Option ID = 20282]
4, 4 [Option ID = 20283]

44)

Conszider the statements In connection with any dispute to the amount of gratuity payable to
an employee under the payment of Gratuity Act, 1972

(A)

(B)

(C)

D)

(E)

If the amount of gratuity pavable by an employer is not paid by the employer within
the specified period

Where there 1s a dispute with regard to the determination of payment of gratuity, the
employer or employee raising the dispute may make an application to the controlling
authority for deciding the dispute

The controlling authority is required to conduct an inquiry and without giving a
reasonable opportunity of being heard. determine the matter under dispute

The controlling authority shall direct the employer to pay such amount as reduced by
the amount already deposited by the employer

The controlling authority shall pay the amount deposited, including the excess
amount deposited by the emplover to the person entitled to

Choose the correct answer from the options given below :

(1) (&), B), D). (E) only
(2) (A, (B), (C), (D) only
(3) (B, (0), @), (E) only
4) (A, (C), @), (E) only
STEM HEE SUER 1972 ¥ oTrd ROl SRR w1 Oed SUed Ui % matta Fedl e W Tey o
Tetefiga Al o o= =i
()  =f Fa sugm ufn 1 gram P g fe st %t e T fe S 2
(B) &l SUSM h! Gex U =hil [Hulto) = gsg 4 =g fag & af e e wi9=rl 39 faare <+
o g FrEm- e i sTeeT % W § fae @ e 2|
(C)  Hw WUPRl ¥ UF wird HaM o 3Ten Tl 2 31 formn grams =1 stm s fin faanfen am=
o1 TH9eRE AT 2 |
(D)  wm wiftebrt Fretear =t qe A s oA TS il S werR Sy v ufly o e s o am |
(E) =ym witeedl um =fda = faar g s s e st ofy afta s i w afy wogaE
= |
H= f2u mu et 4 O ot st @ e Hife
1) %= A), B). D). (B @) % (A). B). (C), D)
3  F= B). (C), D), (B) 4 Fa@ (A), (C). @), (B)

[Question ID = 5071][Question Description = Q44_Laborwel_SHAAN_05Dec21_52_5hift2]

o 2

45)

. 1 [Optien 1D = 20284]
2 [Option ID = 20285]
3 [Option ID = 20286]
. 4 [Option ID = 20287]

Consider the following statements in connection with the constitution of State Welfare
Boards under the provisions of the building and other construction worker’s (Regulation of
Employment and Conditions of Service) Act, 1996,

(A)

(B
(C)

The state Building and other construction worker's welfare Board shall be a body
corporate having perpetual succession

The Board shall consist of a chairperson to be nominated by the State Government
Not Exceeding fifteen members mav be appointed by the State Government as

prepp
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members of the Board

(D) The Board shall include an equal number of members representing the State
Government, the employers and building workers

(E) At least one member of the Board shall be a women

Choose the correct answer from the options given below:

(1 @) (B (©). (D) only
2 B, (C). (D), (E) only
(3) (&), (C), (D). (E) only
@9 @A), ®), (C), D), (E)only

e[ T A= HiEmm HER (TR # SR @ gar-md) saifuteEm 1996 F wmEuml % afwa 15
o] |l % e 4 wEtu et wuEt w el -

(A)  TSA Wad Ud = WHI0 FHTR FA0 95 Fiat A% 9ren U Ffia fem s

(B) WiE H U= TR g A1ia fRe < arer w1emer it i

(C) 9 % U & ®9 4 Us9 g1 Figaa 760 S wehl aTel Ugs weel § atiess 72 2 |

(D) i3 ® U= wpR, fEiearett qur wam s w0 ataffiee e ae gewt A wam e g |

(E) % § FH-T—FA UF G "l orl |
fi9 fov 7o el § O OE IR @ 994 iR
1) *EE A). B), (€). D) 2 Had (B). (C). (D). (E)

(3  FaA (A). (C), (D). (B) 4 T (A), B). (©), D). (B)

[Question ID = 5072][Question Description = Q45_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20288)
2. 2 [Option ID = 20289]
3. 3 [Option ID = 20290]
4, 4 [Option ID = 20291]

46)  Name three important reasons in the role of selection for organisations effectiveness.

(A)  Work performance and the willingness to work
(B) Skilled employees in the organisation
(C) Cost incurred in recruiting and hiring personnel

(D) Involvement of representatives of union

Choose the correct answer from the options given below:

(1) (0. (D) and (A) only
(2)  (B).(C) and (D) only
(3 (D). (A) and (B) only
4 (A, ®) and (C) only
TS =hi TAEICIEHAT % 2g 994 i e | i Agee FRO & am §-

(A)  =HrE-fFemEd A FE B B s
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(B) TS H TS FHARI
(C)  Hifi=Rl =ht WAl Ud g o 31me o

(D)  §9 % wiataftmt 6 wfeea
= v o foeredl § © OF SO w1 999 Hif

(1) %= (C), (D) 3k (A) (2) F== (B), (C) ¥k (D)
(3) = (D), (A) 3R (B) 49 FFF (A). B) I (O)

[Question ID = 5073][Question Description = Q46_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20292]
2. 2 [Option ID = 20293)
3. 3 [Option ID = 20294)
4. 4 [Option ID = 20295]

47
} Which among the following are theories of Labour Welfare?

(A) Theory of Adequacy of wages
(B)  Philanthropic theory

(C)  Trusteeship theory

(D)  Theory of Efficiency

(E)  Theory of Responsibility

Choose the correct answer from the options given below:

(1)  (A) and (B) only
(2) (B) and (D) only
(3) (B) and (C) only

(4 (D) and (E) only
e d s mwem  fagm R A 27
(A)  wogh i sugeda = faga
(B) fremfts fagm
(C)  =idar = Thg

(D) =&ar/Fuad w1 gk
(E) Swetac =1 fugid

A= f2u v foeredl § O T2 SO T 99 I

(1) =9 (A) R (D) (2 = (B) 3R (D)

(3)  =Ha@ (B) 3 (C) (9 = (D) AR (E)

[Question ID = 5074][Question Description = Q47 Laborwel SHAAN 05Dec21 52 Shift2]
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bl D

48)

1 [Option ID = 20296]
2 [Option ID = 20297]
. 3 [Option ID = 20298]
. 4 [Option ID = 20299]

Which of the following statements are correct so far as the provisions of the Employees’
Provident Fund and Miscellaneous Provisions Act, 19527

(A) It makes provision for pension scheme including family pension
B It makes provision for Employees’ Deposit linked insurance scheme

(C) The provisions of the Employvees’ Provident Fund Act are not applicable to the

cooperative societies employing less than forty persons working with the aid of power

(D) There is no wage ceiling under the Emplovees’ Provident Fund and Miscellaneous
Provisions Act, 1952

Choose the correct answer from the options given helow :

(1)  (A). (B only
2 A). D), (C)only
3 @A. D), D) only
4 (). (D)only

FE a Farl qiae [l uE gl syey sAfEaE, 1952 % susdl @ gey 2, Aefafgd § € wE-g
FUT TE 27

(A ¥z TR dvH afEg eE i giee 5 Tow wayE e g

(B) Tz wHEH] IHI-TEsg S TS b U AEEE e 2 |

© i wier [y afafem 5 e faggg fi azear o g7 Tt gesd afafet Gl wefi
=ifFa & %9 Frefm £, 390 e a6 B 2

D) e v B ve bl sasy sifafem, 1952 * stata wogdl 61 <6 s 2@ 2 |
H= fou o fomedt A F UE ST o 99 i

1) =99 (A), B @ @ (A), (D). ()

3) =T (A). B), D) 4) Faw (C), D)

[Question ID = b075][Question Description = Q48 _Laborwel _SHAAN_05Dec21_52_Shift2]

e ld B

49)

. 1 [Option ID = 20300]
2 [Option ID = 20301]
. 3 [Option ID = 20302]
. 4 [Option ID = 20303]

Which three of the following items the works committee may normally deal with as per
approved hst of the Indian Labour Conference?

(A) Conditions of work such as ventilation, lighting. temperature and sanitation
including latrines and urinals

(B) Safety and accident prevention. occupational diseases and protective equipment

(C) Bonus and profit sharing

(D)  Adjustment of festival and National Holidays
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Lhoose the correct answer I1oln the options given below!

1
2
3
(4

(&), (B) and (C) only
(&), (B} and (D) only
(B). (C) and (D) only
(A), (C) and (D) only

ffefaa 4 @ 6 I geg = wdiE aw oo % erifid gt % orew wEmife o smai m

(B)
©

(D)

= %I feafet SfF dame (Faer #t), T o1 sHarm e SR e 9o g i

gAY % A1y o |
s 3T 3 frard |
ER TR TE ST A |

Fra f&u U e 4 @ 98 ST w1 99 HI,

(1)

(3)

*Fae (A). (B) 311 (C) (2) wHad (A). (B) 31t (D)

e (B). (C) 2R (D) @) F (A). (C) 3T (D)

[Question ID = 5076][Question Description = Q49_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20304]
2. 2 [Option ID = 20305]
3. 3 [Option ID = 20306]
4, 4 [Option ID = 20307]

50)

Consider the following statements under the contract Labour (Regulation and Abolition) Act,

1970

(A) Gazetted officers of Government are to be appointed as registering officers.

(B) The Licence issued to a contractor is transferable.

(C) A licence 1ssued to a contractor may be revoked if 1t is found that the licence was
obtained by misrepresentation of or suppression of any material facts.

(D) An aggrieved person may within thirty days from the date on which the order is

communicated to him, prefer an appeal before the appellate officer

Choose the correct answer from the options given below:

(D
2
(3
(D

(A), (B) , (C) only
(B). (C), (D) only
(A). (O), (D) only
(A). (B). (D) only

%1 3w (fafeme vg Seare) erfaem, 1970 % ol ffeias =eai ™ fEr =

(A4)

Py

AR % TegEa Afeerien 1 asteme stfitemfoat = w0 4 Fgea Fen s s 2

e T S e U . FULRY-
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(C) Tt Ioher =i ST wmsEm e T <0 wkar 2 3% @1 wrn S ® 6 AmeEw w0 macager aeA

#1 T TEHRI T AYET AR T R T 2

(D) ifza =afea, <0 9= e sy 6 fafyr wth 6 o g femt & sfim srdficlr sferdt & wmg srdie

1 Tl & |

He faw e foepeal § @ weE Swed S = il

(1) w4 (A). B), () (2 F=a (B). (C), (D)
3 @A) (O, @) @) = (A), B), D)

[Question ID = 5077][Question Description = Q50_Laborwel_SHAAN_05Dec21_52_5hift2]
1 [Option ID = 20308]
2 [Option ID = 20309]
3 [Option ID = 20310]
4 [Option ID = 20311]

o R

1) Whe among the following are Neo-Classical Economists:

(&) Marshall
(B) James Mill
(C) Pigou

(D) David Ricardo

Choose the most appropriate answer from the options given below:

(1)  (A) and (B) only
(2)  (B)and (C) only
(3)  (A) and (C) only
(4)  (C) and (D) only
Frefataa 9 9 = |- s 27

@&

®) v
© dm

D) e Rl

St o o foeeedl § © TeE SUgad STR o = I

(1) A (A) IR (B) 2 Faa (B) 3R (C)

(3)  =ad (A) IR (C) @) = (C) ¥R (D)

[Question ID = 5078][Question Description = Q51_Laborwel_SHAAN_05Dec21_52_Shift2]
| 1. 1 [Optien ID = 20312]
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| 2. 2 [Option ID = 20313]
3. 3 [Option ID = 20314]
4. 4 [Option ID = 20315]

22) Consider the statements in connection with the registration of certain establishments under
the Inter-State Migrant Workmen (Regulation of Employment and Conditions of Sexrvice) Act,
1979.

(A) Every principal employver of an establishment to which the Act applies, shall within
the specified period make an application to the registering officer in the prescribed
format for registration.

(B) The principal emplover is required to pay the fees along with the application for
registration.

(C) Ifthe registering officer is satisfied that the applicant was prevented by sufficient
cause may entertain the application even after the expiry of the period.

(D}  Ifthe application is not complete in every respect, shall be summarily rejected.

()  Ifthe application is not so complete, the registering officer shall return the same to
the principal employver of the establishment.

Choose the correct answer from the options given below

1 @A), ®B). (), ®) only
@ A, ®B). (), (E)only
& (A, ®). E)only

4  (®),(C). D), (E)only

Jafoas T BN (TSFIR o Bt @ 8 7)) eatat=m, 1979 % 3d $a9d JTasa
TSt @ ey | fefetaa At w e

(d) Frdli wfeem & ues wom faie, e atufem @ g 2, oo 2g B aw 4 o
st % o faRfee el & ofiee st =om |
(B)  wuH e ¥ usiT 5y oaE % a1y sTifAa ves 1 WTaE R Y erde Bt 3

(C) =tz gofirs il 3w wre & Hae 2 5 srHes vl wron @ wite wE a0 g £ 9 =y At
st 1 Tt % v o 39 otae W R o |

(D) A 3 Tt v o Ouf @ 2 9 3U e = T s )

(B) =tz smaa frsht worm & b =8 2 & woflr il <@ wiiem % wam P =t <t 3
H= fau o el § O 9E] 39 & = I

(1) =@ (A). (B), (C). D) @) Fa Q). (B), (C). (B)

(3) == (A), B), E) (@) = B), (©). D). (E)

[Question ID = 5079][Question Description = Q52_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20316]
2. 2 [Optien ID = 20317]
3. 3 [Option ID = 20318]
4. 4 [Option ID = 20319]

3 Which among the following are the hidden costs of industrial accidents?

(A) Worker distraction
(B) Paper work

(C) Wages

(D) Spoiled work

(E)  Loss of efficiency due to break-up of crew

Choose the correct answer from the options given below :
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VS NG W AL\ ViLLy
(2)  (A). (B)and (E) only
(3  (B).(0) and (D) only
(4)  (C), (D) and (E) only

frfofiga § @ #= fAmfies godaet % 928 e 27

(A)  HERI B S ST

(B)  FWE FE
() =oh
D) g TH

(E) FHea & 9929 % 10 TRl =1 @9

= fou e e § © W s w = Fifs

(1) a3« (A), (B) 3R (C) 2) Haw (A), (B) 31 (E)

3) = (B), (O) 3R D) 4) = (C), (D) 3 (E)

[Question ID = 5080][Question Description = Q53_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20320]
2. 2 [Optien ID = 20321]
3. 3 [Option ID = 20322]
4. 4 [Option ID = 20323]

24 Which among the following are the determinants of the demand for labour?

(A) Wage rate
(B)  Productivity
C) Non-wage aspect of the job

(D)  Prices of other inputs

Choose the most appropriate answer from the options given below :

(1)  (A)and (B) only
(2 (B and (O) only

(3) (C)and (D) only

@D (B) and (D) only
o bt gin = et F=fefiga o 9 = fHala g 27
(4 =gl
(B)  ScTEEHal

(C) =W % W-uwgll s
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(U) & APHI F1 oA

= o Ty, frpedl d & wsE SWIH S @1 999 hifAU

()  Faa (A) 31T (B) (2) Fa= (B) 3R (C)

(3) Fa9 (C) 3 (D) (4) T (B) 3R (D)

[Question ID = 5081][Question Description = Q54_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20324]
2. 2 [Option ID = 20325]
3. 3 [Option ID = 20326]
4. 4 [Option ID = 20327]

33} Identify the four emerged dimensions that differentiate national cultures in terms of their

managerial ideologies from the study conducted by Laurent.

(A) Organisations as political systems

(B) Orgamisations as social systems

(C) Organisations as authority systems

(D) Organisations as role formalization systems

(E) Organisations as hierarchical -relationship systems

Choose the correct answer from the options given below :

(1)  (A). B), (©). (D) only
2  (B). ©), (D). (E)only
(3  (A). (O, D). (E)only
4 @. B). D). (E)only
T T, MY, A 5 STIAR A AR # Tes H U@ FEpioal § 37at el arel 9r ST
H TEEE K |
(A)  usHifaE 9 = =9 1 s
(B)  Hmiise 99 % =9 | TaA
(C) TR T % T H e
(D) i FuRe T % =9 7 TS

(E) ®H-TUL 994 99 & &9 4 A

= fou o famed! 4§ O SR T T e
(1) = Q). B). ), (D) @) waa B), (C). D), (B)
(3) 3 (A). (C). D). (B) @ w9 @A), B), D). (B)

[Question ID = 5082][Question Description = Q55_Laborwel_SHAAN_05Dec21_52_Shift2]
1, 1 [Option ID = 20328]
2. 2 [Option ID = 20329]
3, 3 [Option ID = 20330]
4. 4 [Option ID = 20331]

) Thsthree basie procedures of behaviour modeling involves:
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(A)  Modeling. Trainees watch live or video examples showing model behaving effectively

in a problem situation. Thus, the video night show a supervisor effectively disciplining
subordinate

(B) Role playing. The trainee get role to play in a simulated situation they are to practice
the effective behaviour demonstrated by the models.

(C) Social reinforcement. The trainer provides reinforcement in the form of praise and
constructive feedback.

D) Transfer of employees from one department to another

Choose the correct answer from the options given below

(1) (A, (B) and (C) only
2)  (B).(C)and (D) only
3  (C). (D) and (A) only

(4 (A), B) and (D) only

sTeER Wiaequr it 91 i) aiemst 3 it E-

(A) Tt gere hi Toufa o orreel yfoew = wwrell =9agr @ S G ST B geE seEn fafsan
SR % g Uiawaw iy owd ® | 39 TR 39 fafemi § 3z qmin s ' @ s e TR
3 avefrey wiegeTi w1 varl w9 @ sty e 2 |

(B) uftr fedE-ufe sooe ofifafa 4 sl gfew = el @ & fo gt o war 21 3=
giaeTs g TeRia Tl SHEER F YIS 0 2 |

(C) WIS Yad= - ST q9T TeFTen HIss /T % &9 o U gH:vaad T8M H 2 |
(D) ORI 1 TR U {9 8 g 9 | e |

H fou o famedt # o wf s ==H Fifw

(1)  Fa« Q). (B) 31 (C) 2 Haa (B). (C) 3 (D)

(3)  aw (C), (D) 311 (A) (4) = (A), B) 3t (D)

[Question ID = 5083][Question Description = Q56_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20332]
2. 2 [Option ID = 20333]
3. 3 [Option ID = 20334]
4. 4 [Option ID = 20335]

57 . ; o . . . .
) Which three-tier system of participation was recommended by a Tripartite committee on

workers, participation in 1977 under the chairmanship of Sr1 Ravindra Verma?

(4)  Unit Level
(B) Shop Floor Level
(C) Plant Level

(D) Corporate Level

Choose the correct answer from the options given below :

(1) (A, (B) and (C) only
(2) (A, (C) and (D) only
(3) (B). (C) and (D) only

4 (4). (B) and (D) only



Www.prepp.in

ot Wiirg 79l i s ¥ A% 1977 | w1 gfawrier gedt Bosf otifa g smutta afemfe

% f-wai™ 7 (three-tier system) 1 @1 27

(A)
(B)
©)

(D)

(1)

(3

[Question

THTT T
T FAR (FAE) W

rm =

U formedt @ W WEE S99 I T = I

e (A). (B) 3R (C) @ F4 (), (O) 3R (D)

#ae (B), (C) ik (D) (4) Fa (A), (B) 3k (D)

ID = 5084][Question Description = Q57_Laborwel _SHAAN_05Dec21_52_Shift2]

1. 1 [Option ID = 20336]
2. 2 [Option ID = 20337
3, 3 [Option ID = 20338
4, 4 [Option ID = 20339]

58) By

merger of which two Associations of Engineering Industries in 1974, the Association of

Indian Engineering Industry (AIEI) came into existence?

(A)
(B)
©)
D)

The Engineering Association of India 1895
The Engineering Association of India 1942
The Engineering Association of Bombay 1948

The Engineering Association of India 1938

Choose the correct answer from the options given below :

)
2
(3)
CY)

(A) and (B) only
(A) and (C) only
(B) and (C) only
(C) and (D) only

ST ToE) % R @ TEl % 1794 1 o™ 39 % uvea vEifiueE ST e SHeEieT See (T IS
3 ) srfedea 4 en?

(A) 3 T caifauee oe i, 1895

(B) 7 THFEie emiguyE ofE siEa, 1942

(C) = T=iPmieT eaifiues oiTE sl 1943

D) 7 =i caifianE o Fored, 1938

= fou mo famedt © © =91 T 1 9 I

(1) a= (A) 3K (B)

" - -~
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g AR ALRF WFIEN WA

(3) Haw (B) 3l (C)
(9 I (C) R (D)

[Question ID = 5085][Question Description = Q58_Laborwel_SHAAN_05Dec21_52_5hift2]
1 [Option ID = 20340]
2 [Option ID = 20341]
[Option ID = 20342]
]

1.
2.
3.3
4. 4 [Option ID = 20343

59)  Which three of the following are covered under the context, described by John T. Dunlop in

his Industrial Relations system?

(A)  the technological characteristics of the workplace and community
(B) the product and factor markets or budgetary constraints
(C) the network or web of rules in the country

(D) the locus and distribution of power in the larger society

Choose the correct answer from the options given below

(1) (A). (B), (C) only
(2) (A). (B), (D) only
(3)  (B), (0), (D) only
4 (A (©), (D) only
FH. A1 THEY 5 HuA sieAifes Wew |47 § i 18 wmnem % ued § fafafas § @ e die o+
T Tobar 2
(A)  Frede i ggeE Fi deanihe Femad
(B)  IcWE Ud 3agd SR Yl SSed Seaan
(© ¥ dreg e o femt =

(D) =419 TS W TMih BT =heg el GieIaLor

= faw 7 famredt § 9 @8 3@ %1 99 Fifag

(1) a4 (A), B), (€)
(2)  *=9 (A), (B).(D)
(3) ¥ (B), (C). D)
@ = (A), (C), (D)

[Question ID = 5086][Question Description = Q59_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20344]
2. 2 [Option ID = 20345]
3. 3 [Option ID = 20346]
4. 4 [Option ID = 20347]

60)
While translating the theory of trusteeship into action, Gandhijee has advised which three
steps?

(A) Persuasion
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(B) State Legislation
(C) Dispossession and Nationalisation

)] Concentration of Economic Power

Choose the correct answer from the options given below :

(1) (A), (B)and (C) only
2y @A), B) and (D) only
(3}  (B), (C) and (D) only
@ (A (C)and (D) only

=nifiar = g =t i w a s B de e B wee § R0

(4)

(B)

©)

(D)

AT

T o {aam
St 3R W
st iRe &1 Ty

= fau v foereal § © TeE SUEE SR W T I

(1)
(2)
3

(4)

[Question ID = 5087][Question Description = Q60_Laborwel_SHAAN_05Dec21_52_5hift2]

e (A). (B) 31 (C)
A (A). (B) 31R (D)

#ad (B), (C) ik (D)

w39 (A). (C) 3R (D)

1. 1 [Option ID = 20348]
2. 2 [Option ID = 20349]
3. 3 [Option ID = 20350]
4. 4 [Option ID = 20351]

61)

et st dfifem a= gro @ wefa Frafafas ® 9 B 9 wgfaal =1 swr g o9 g gefafet =

Which of the following three methods as suggested by Sidney and Beatrice Webbs can be

used by the trade unions against the capitalists?

(&)
B
©
D)

Mutual Insurance
Collective Bargaining
Political Actions
Legal Enactments

Choose the correct answer from the options given below

D
(2)
3
@

(A), (B) and (C) only
(B). (C) and (D) only
(A). (B) and (D) only
(A), (C) and (D) only

g s w=a 27

(4)

(B)

et S
afe Hearsi
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(C)  TsHITT® rears
(D) faumh rEtE

H9 o o et B § OE SR 91 99 I
1) 99 (A). B IR (O
(2) === (B). (C) 3t (D)

(3)  F= (A). (B) 3R (D)

@ == (A), (C) AR (D)

[Question ID = 5088][Question Description = Q61_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20352)
2. 2 [Option ID = 20353)
3. 3 [Option ID = 20354]
4. 4 [Opticn ID = 20355]

62 ; ;
) Which three of the following welfare schemes the State Government may formulate and

notify from time to time for unorganised workers under the unorganised workers social
security Act, 20087

(A) Provident fund
(B) Skill upgradation of workers
(C)  Old age protection

(D) Funeral assistance

Choose the correct answer from the options given below :

1) (A, B, (C)only
(2 (A, (®B), (D) only
(3 (B).(C), D)only
4 (A).(C). D) only
TS R FAIST G #ATa=m, 2008 & 30 sTEsa H & oo Sefatea 7 § 9 fm
FEATO] ThTT =t T TR T T0F W AR 3R Afgieg = asdl 27
(&) e B
(B) T W HO I
(C)  Tgraeen Tem™
D) Iz FEE

i fau o fompeut o @ @ ST 1 = HiA

(1) === (A), B). (©)
2) %39 (A), (B). D)
3  Fa= B), (C), D)
4 ¥ (4), (C), D)

[Question ID = 5089][Question Description = Q62_Laborwel_SHAAN_05Dec21_52_Shift2]

prepp
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. 1 [Optien ID = 20356]

2 [Option ID = 20357
. 3 [Option ID = 20358]
. 4 [Option ID = 20359]

oW

63) Arrange the following in the process of Job Analysis.

(A) Understanding the relevance of Job analysis
(B) Collecting information
(C) Design the Job

(D)  Processing the information

Choose the correct answer from the options given below:
(1) (D). (A), B), (O)
2 A). B). O, D)
3 @A), ©), B). D)
4 (O @A), B), D)
% Taverr i sfEeT & AFuR 5% HrEg W
(A)  FrE faremm % siifac = auw
(B) =AM TEHA AT
(C)  =Hr Mg =

@) ST W GE w1

A= Teu v faeredl A O T2l 39 = =9 il

1 D). @A), B, C)
2y A B ©O. D)
(3) (A Q). B). D)
@ (€. &). 3. D

[Question ID = 5090][Question Description = Q63_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20360]
2. 2 [Option ID = 20361]
3. 3 [Option ID = 20362]
4, 4 [Option ID = 20363]

64) Which three types of employees are included in the definition of IHRM by P.Morgan?

(A)  Host-country National
(B)  Parent country National
(C)  Third country National

(D) Domestic country National

Choose the correct answer from the options given below:

prepp

Your Personal Exams Guide



www.prepp.in 4 l"epp

Your Personal Exams Guide

1) (A). ®). (C) only
(2) (A).(C), (D) only
@  B.(0), D)only
@D (A).®B). D) only

fi. Ar g oTE U9 TR UH wh aiurs § R dF TR S e F onihe e s 2 7

(A)  HSEE 29 F AT
(B) S W I ATIE
(C)  31=7 <1 =1 A7k

(D)  TRE W B AN

e 2w v famredal | © WE IOt o 9EE hifag
(1) =4 Q). B), (©) 2) Had (A). (©). (D)
3) %I« B). (C). D) (4) = (A), B). (D)

[Question ID = 5091][Question Description = Qé4_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Opticn ID = 20364]
2. 2 [Option ID = 20365]
3. 3 [Option ID = 20366)
4, 4 [Option ID = 20367]

65)  The “family” 1s relation to a male employvee under the provisions of the payment of gratuity

Act, 1972 includes

(A) The employee himself, his wife and children
(B) The children of his predeceased daughter
(C) The dependent parents of the employee

(D)  The children of his predeceased son

(E)  The dependent parents of his wife and the widow

Choose the correct answer from the options given below:

(1) A). B). (C). (D) only
2 @A. ©). D), (E) only
@) A ®), D). (E)only
(4)  (B). (C). D), (E) only
IUgA HeA AlEm, 1972 % waaEl & st Bl gew el % gea d Cofan’’ 9 i 3

(A)  HUUE WH, 3G Ul wE 9=y

(B) 3wl TEgd @2t % =
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(C) ==l o Tm "rar-fuar
(D) 9% [E9d o H T

(E) =uht vl & oniféa wran-Toan wa swehi fauan

= 13U v famredl 0 9 O 3Ot w1 == Sy
() %9 Q). B, (©). (D) (@) e (A). (0. (D), (B)
(3) = Q). B). D). (E) @) =3 B), (C). D), (E)

[Question ID = 5092][Question Description = Q65_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20368]
2. 2 [Option ID = 20369]
3. 3 [Option ID = 20370]
4. 4 [Option ID = 20371]

66)  Match List I with List IT : Regarding stratification of work force.

ListI List II
(A) Low performance low potential (I  Work Horses
(B) Low performance high potential (I) Stars
(C) High performance low potential (IT) Deadwood
(D) Hagh performance high potential (IV) Problem child

Choose the correct answer from the options given below:

(1)  @-ID, B)-IV), (O)-(D). (O)-dI)
2  @)-Iv), (B)-O), (O)-(I0), D)-T)
(3)  @A)-ID, B)-IV). (CO)-(ID). (D)-{D)
@  A-d), B)-1). (O-IOv), O)-d)

Tl I % g1 ge I =1 Tt it ; shrieret % TalaRol # g9y |

g1 =10
(&) = frae f= e @ o wE
B) fr=1 frome s=9 ama I ™
(©) v=a frome fo ema ) 3 T3
(D) =u T == g (IV) STeseT d15es

5 fou 7o foeat § © T2 SO A W i

1)  A-dID. B)-AV). (O)-D), (D)-(ID)
@  A)-IV), (B)-ID, (C)-(1D), (D)D)
(3  @A-dID, B)-AV). (C)-dD). D)-M
4 A-AD. B)-O). (C)-aAV), (D)-(I1D

[Question ID = 5093][Question Description = Q66_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20372]
| 2. 2 [Option ID = 20373]
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| 3. 3[Option ID = 20374]
4. 4 [Option ID = 20375]

67)

Match List I with Last IT ;

(A)
(B)
(©)
D)

List I

Expectancy theory
ERG theory
Equity theory

Attrmbution theory

TLast IT
() Stacy Adams
(II) Harold H. Kelley
(IIT1} Clayton Alderfer
(IV) Victor Vroom

Choose the correct answer from the options given below:

)
2
(3
€

(A)-IV), (B)-(), (C)-@), (D)-(II)
(A)-(D. (B)-(I0), (C)-d1D), (D)-AV)
(A)-(D). B)-1D). (C)-IV), (D)-(I1L)
(A)-(IID, (B)-AV), (C)-(ID), (D)-(I)

T | & T gl e Sif
a1

(&)
(B)

VeI B g
3 I of. g

(C) H=Idl & fHgia
@) =R AT

1 faw T foaeat & 9 92 992 @ 9 B

D
(2
(3)
€

(A)-IV), (B)-(TII), (C)-, (D)-(D)
(A)-(D), (B)-(II), (C)-(I1L), (D)-(IV)
(A)-(ID), (B)-(D). (C)-(IV). (D)-(ID)
(A)-(ID. (B)-(IV). (C)-(D), (D)-(D)

I A
(D) =es T el
(III) FreT i ceTht

@V) o g

[Question ID = 5094][Question Description = Q67_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20376
2. 2 [Option ID = 20377)
3. 3 [Option ID = 20378]
4. 4 [Option ID = 20379]

68)

Match List I with List IT :

(A)
(B)
(©)
D)

ListI

(Games People Play
I am ok-you are ok
Johari Window

Role set theory of organisation

ListII
(I)  Eric Berne
(II) Robert L. Kahm
(III) Thomas A. Harris
(IV) Joseph Luft and Harry Ingham

Choose the correct answer from the options given below:

)
2
(3)
€

(A)-IV). (B)-(D). (O)-ID), (D)-(IID)
(A)-(1I), B)-d1), (C)-), D)-(IV)
(A)-{II). (B)-(I1V), (C)-(1D), (D)-(D)
(A)-(D. (B)-(I1D). (C)-AV). (D)-(IT)

prepp
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-1 % e gE-I1 = fiem Fifs
i =11
(A) 7= e O i
(B) 1 UH Hi k- F AW Ak dD) e ue. &
(C) igd et Al ofg u, 2w
D) Tt Tz el s srifrgae @V) =ra® g vs 2l e

el fu v faereal 4 W g Idt = ==E i

(L A)-IV). B)-D). (O)-11), (D)-d1I)

2 (A-dAD, B)-dD. (C)-d@), M)-AV)

(3  @-1D. B)-AV). (C)-(1L). (D)-(D

4  A-O. B)-D. (C)-(IV). (D)-(ID
[Question ID = 5095][Question Description = Q68_Laborwel_SHAAN_05Dec21_52_5Shift2]
1. 1 [Option ID = 20380]
2. 2 [Optien ID = 20381

]
3. 3 [Option ID = 20382]
4. 4 [Option ID = 20383]

59 Mateh List I with List IT
Tast I Last I1
(Items of the Act) (Chapters in the Act)
(A) Authorities under the Industrial (I) ChapterIIB
Dispute Act
(B) Strikes and Lock-outs (IT) Chapter VA
(C) Grievance Redressal Machinery (II) Chapter II
(D) Lay-off and retrenchment (IV) Chapter V
Choose the correct answer from the options given below:
(1) AQ-AV). (B)(ID. (O-AIL). (D))
(2) (A)-I1ID, (B)-IV). (C)-(D). (D)-(ID)
3 @D, B)-AID. (C)-1D). (D)-IV)
(4 (A)-(1D), (B)-M). (O)-IV), D)-(11D)
=i 1% ary gt IO 1 e il
gl -1
AfaFEm F g2 FAfafem & 215

(A) sitmifier faag A ma ks o (@O == I B

B) TS IR AT D) w=m VA
(C) Tirrma gar &l wrEwonet A1) s1ea II
(D) =wmEe; s FA AV) 1™ V

= fow o foew § ¥ wE ST F 99 ST
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(1)  (A)-Av), B-an. (O)-aI). O)-@

(2) (A)-1D, B)-AV). (O-D. (D)-AD

(3  A-O. ®-3dD, (G-, (D)-AV)

(4 (A)-(dD). (B)-(D). (O)-1V), (D)-(d1D)
[Question ID = 5096][Question Description = Q69_Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20384]
2. 2 [Option ID = 20385]

3. 3 [Option ID = 20386]
4, 4 [Option ID = 20387]

70} Match List I with List IT

ListI List IT
(A) Voluntary reference of dispute to (I) Section - 8C

arbitration
(B) Prohibition of strikes and lock-outs (II) Section - 26M
(C) Prohibition of lay-off (III) Section - 10A

(D) Setting up of Grievance Redressal (IV) Section - 22
Machinery

Choose the correct answer from the options given below:

(1  @A-@. B-HD. (C)-AV), (D)-ADH
2  A-dD. B)-1), (C)-I), (D)-IV)
3  @-dID, B)-AV), (C)-aD. D)-M
@  A-IV). B)-D. (O-O. (D)-IID

geft 1 % ara g I =1 firema $ifg

Tefi-1 T=hi-11
(A) TFamE % T feEr w1 @Sfss gedm @ a7 -9
(B) =sawl Ud deEiea W Ity D) 9™ - 25 TH
(C) dremae] W gy ) o/ - 10T
(D) FrrEa Foem a7 H o av) umw - 22

Hi=t fau U fampedl A ° wE I w1 = B

1)  @-O. B®-3D, (O-IV). (D)-dD
2  A-dn, @)-O), (O)-1I), (D)-1V)
(3  A-1D, &-aV). (O)-aD). (O)-D
@  @-IV). B-10). (O-O), (D)-dID)

[Question ID = 5097][Question Description = Q70_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20388]
2. 2 [Option ID = 20389)
3. 3 [Option ID = 20390]
4. 4 [Option ID = 20391]

1) Match List I with List IT : Models of coping-defense mechanism

aam 4 000 agm agu B apmaam
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(A) Aggression Iy Irritation, restlessness, and
violent/destructive

(B) Flight (I) Showing primitive behaviour

(C) Exploration (III) Denying any feeling of frustration

(D) Regression (IV) Giving reasons and explanations for

frustration

Choose the correct answer from the options given below:

1 @A)-dD. B)-O). (C)-ID). D)-{IV)
@  @-O, B)-0D, (O)-1V), (D)-10)
(3  @-AD, @-aAV). (O)-D. (D)-AD)
@  @A-@Qv). B)-ID. (O-O0). O)-dI)

Tt I % oy o= 11 1 e $if
AT FHLII
wuY B = ufaest wreas sum Hafia =IaEn
(A) FTHAF (D e, rvaar AR fes /e
B) "o (D) AT =aER 1 Te9H
(C) = (AID) =t ¥ et ot v & 50
(D) T foz=rA (IV) 31 * HRY SAET IR GEE

2 2w o frwedl § € 98 3w w1 A Ao

1)  @-ID. B)-O. (O)-dID. (D)-IV)
2 @-D. B)-AID. (O)-1AV). (D)-(ID)
(3)  A)-dD), B-1@V), (O)-1@), (D)-D)
@  @-aV). B)-1D. (O-O. O)-(ID)

[Question ID = 5098][Question Description = Q71_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20392]
2. 2 [Option ID = 20393)
3. 3 [Optien ID = 20394]
4. 4 [Option ID = 20395]

72)

Mach List I wath List IT :
List I List IT
MNC Organisational Model Structural Configuration
(A) Multidomestic (D Centralised hub
(B) International () Coordinated federation
(C) Global (III) Decentralised federation
(M) Transnational (IV) Integrated network

Choose the correct answer from the options given below:

1) AQ-AV). B)-diD). (O)-1D). M-
2  @&)-O, B)-1V), (C)-(1), (D)-(1D)
3  A-AID, @)D, (O)-1). D)-AV)
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(4) (A)-(11), (1B)-(1), (L)-(1V}, (L))-(111)

Et-1 = Ty g=i-I1 = frem Fifse

(A)

(€)
D)

i1
. ™. @, TskE ghed

I 3 o faeped 0 o Tal IO S 99T Fie

@
(2)
(3)
4

(A)-0V), (B)-(I1D). (C)-T). (D)-T)
(A)-D). (B)-(AV). (C)-(ID. (D)-(1I)
(A4)-dID), (B)-AD. (C)-O). (D)-IV)
(A)-1D. B)-D. (O)-(IV). (D)-(1IL)

A
ST T
(D “=rrd &
(I wwi=E a9g
(IIl) fresiFa o9
(V) TP AT

[Question ID = 5099][Question Description = Q72_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20396]
2. 2 [Option ID = 20397)
3. 3 [Option ID = 20398)
4. 4 [Option ID = 20399]

73) Match List I with List II :
ListI List II
Trade Unions Founders President
(A) Textile labour association of Ahmedabad (D Mahatma Gandhi
(B) Bombay Millhands Association (I) V.V.Giri
(C) AllIndia Trade Union Congress (III) Lala Lajpat Rai
(D) IndianTrade Union Federation (IV) N.M Lokandey
Choose the correct answer from the options given below:
D @&-@. B-AD. (C)-AV), (D)-IID)
2 A-D, B-AV), (C)-aID), (D)-aD
3  @-aD, B)-O. (C)-aV), (D)-dIL)
4 (A3, B)-D), (C)-(D), (D)-AV)
-1 % T g1 = e fifsm -
i1 LGB
Hit=h = HEATIF Y
(A) FEeEA oeR UHIUIE A% RIS ORI
(B) wi firet 2@ vwifyesm an . &, fift
(C) e 3fem 3 g Fud (1) ren Soad T
(D) sfEar ¢ gFeA wstH V) . wH. digs

= fov U frrew B U UE 3T % 999 ST

(L
(2)

(&)-D. B)-dD), (C)-AV), (D)-d1I)
A)-D. (B)-AV). (C)-(ID). (D)-{ID)

prepp
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(3)
4

(A)-(11), {B)-(1), (L)-(LV), (1))-(111)

(A)-a1D), B)-O. (C)-(D)., D)-IV)

[Question ID = 5100][Question Description = Q73_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20400]
2. 2 [Option ID = 20401]
3, 3 [Option ID = 20402]
4, 4 [Option ID = 20403]

74)

Match List I with List II:
ListT

(A)

about the other

B)

Person knows himself or herself and

Person knows himself or herself but

@

1D

does not know about the other person

©)

The person does not know about

(I1I)

himself or herself and does not know

about the other

Person knows about the other but
does not know about himself on
herself

(0

av

Last I1
Hidden self

Open self

Undiscovered self

Blind self

Choose the correct answer from the options given below:

(D
(2
(3
@

A)-@, (B)-aD. (O)-@V), (D)-(11D)
(A)-(I0D), (B)-@V), (O)-(1D). (D)-D)
(A)-AV). (B)-{II), (O)-(D), (D)-(II)
(A-ID. B)-D), (C)-(11I). (D)-AV)

-1 = arg g=i-11 =1 e A

(A)
(B)

©

D)

LI

wafdq U 3T ! GUT ZEU B AT 2
wafdq JUH HY i A AT & T A
=qfdd < §1 A 5] a2 |

=qfd 1 399 I =1 ST 2 S A |
27 =T =T ST 2 |

=i R = AW ST 8 O S A
F Tal T2

= fou U fomed! B § OE ST 1 999 I

@1 A-O. B-ID, (C)-IV), (D)-(1D)
2  A-dID, B)-aV), (O)-Dh, D)-M
3  A@-av). B)-aIb. (O-O. (D)-ADh
4y  A-aD. B)-D. (O)-11), (D)-(IV)

[Question ID = 5101][Question Description = Q74_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20404]
2. 2 [Option ID = 20405)
3. 3 [Option ID = 20406]
4. 4 [Opticn ID = 20407]

75)

Match List T with List IT
ListI List 1T
(A) Internal coordination (I) Integration of efforts between
superiors and subordinate working at
different levels in an organisation
(B) External coordination () Coordination between different

department and persons withan the
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(C) Vertical coordination

(D) Horizontal coordination

WERALLEDCELILALL

(III) Coordination between an organisation

av)

and 1ts external environment

Coordination between department or
positions or persons at the same level
of organisations

Choose the correct answer from the options given below:

(1)  @-dn, @-ALD, (C)-AV). (D)-{)
2 @)-d), B)-dI), €)-@0), (D)-IV)
(3  @W-AD, ®-O. (O-1IV). (D)D)
@4  @A-dD. B)-aAV), (O)-D). (D)-d1D)

-1 = Ty get-11 = e Fifsre
g1 gehII

(A) 3T TR (M el e | fifiereg | w9 aie
3T TR T % drE T W U

(B) Ed WA= (D) =3 % sFaria fatiE faaen i =aFa %
= T

(C) % uu=HE (IIT) &7 %1 38+ STE I & e sa=

D) &fes ga=m (IV) T & A9 WX % fFan san gaf sven
Gt = SE Ao

= v o foel § © O S 9 9= FeT

1 @-dDh. B)-(II), (C)-aV). (D)-D
2y (A-dD. B, (C)-@). (D)-IV)
3  @-UD. B)-D. (C)-@V), (D)-AD
@  A-ADh. B)-1V). (O)-). (D)-(11D)

[Question ID = 5102][Question Description = Q75_Laborwel_SHAAN_05Dec21_52_Shift2]

1. 1 [Option ID = 20408]
2. 2 [Option ID = 20409]
3, 3 [Option ID = 20410]
4, 4 [Option ID = 20411]

76)

dates of amendments as per the 1.D. Act, 1947

(A) Chapter VA
(B) Chapter ITA
(C) Chapter VB
(D)  Chapter IIB

(E) Chapter VC

Arrange the following chapters in a sequence from the earliest to latest according to their

Choose the correct answer from the options given below :

D B. D)W ©O. E
2 @), B, ©). E). D)
3 @A), O, E), ®B), D)
@ (B, (O, D). E), A)

At fame sfafem, 1947 % oHER efaiaa el = 535 geidAl $ e % o ER Twd @

S % F9 ¥ Sqateird -

prepp
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(A)
(B)
()
(D)

(E)

HAA VA

HAAE I A

3AE VB

3= II B

HAF VO

H9 fou U fameat ° ¥ O ST w1 =9 i

o)
2)
(3)
C)

[Question ID = 5103][Question Description = Q76_Laborwel_SHAAN_05Dec21_52_5hift2]

B), (D). (A), (O). (E)
(4. (B). (O). (E), (D)
(4). (C). (E). (B), (D)
(B). (C), (D). (E), (A)

1. 1 [Option ID = 20412]
2. 2 [Option ID = 20413]
3. 3 [Option ID = 20414]
4. 4 [Option ID = 20415]

77)

H ae T e (T R ) Wi agifae o & R R | 3 Ggiias areistt w5 O

Given below are the theoretical frameworks of HRD. Arrange these theoretical frameworks

according to their development from earliest to latest.

(A) The Integrated HRD System Approach

(B) The Human Capital Appraisal Approach

(C)  The Strategic Framework Approach

(D) The People Capability Maturity Model (P-CMM) Approach

Choose the correct answer from the options given below :

0
(2
3
(4)

&), (©), (D). (B)
&), (B). (C). (D)
(B). (C). (A). (D)
(4) M). (€). (B)

UZe © 316 9% % %4 § oA dd i -

(A)  uehpa TH AR €I R g

(B) TFF TSt goATEA g

(C) il S1aEt= ZiEshm

(D) diue Sufeedife d=gic misa (P-CMM) sfesion

= faw v faereal A O wE) Sa w1 =44 il

(L
2)

(&), (), D). (B)
(&), (B), (C), D)

prepp
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3 B).0). @A), D)

@ W.DO. 0.3

[Question ID = 5104][Question Description = Q77 _Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20416]
2. 2 [Option ID = 20417]
3. 3 [Option ID = 20418]
4, 4 [Option ID = 20419]

78) Sigmund Freud has discussed four phases of psychosexual development stages. Arrange the

stages according to development from beginning to end.
(A) Oral stage

(B)  Phallic stage

(C) Anal stage

(D) Genital stage

Choose the correct answer from the options given below :

1L B (A ©). D)
@ @ 0. B). D
3 (&), D). (©), (B)
4 (B (). D) A)

firmis wE 3 T TR % T % TR WO i SHasel i 2 | S99 90T W oI ¥ o7 o faw &

&H T sHaied Ht -
(A)  Hiflaw wr

(B) @M =R

(C) T

(D) S R

FH o 7o el § § U3 ST 1 99 I

(1  (B). ), ©). D

2 @A) ). B). D)

(3 A, D). (). (B)

4 B, O, D) A

[Question ID = 5105][Question Description = Q78_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20420]
2. 2 [Option ID = 20421]

3. 3 [Option ID = 20422]
4. 4 [Option ID = 20423]

79) Arrange the five levels of training evaluation from the first to the last as given by Phillips.

(A) Learning
(B)  Applied Learning on the job

(C) Return on Investment
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fveqor TR o O TR T % STIHR WO ¥ 2y o 3 | wem |

(A)
B
(&)
D)

(E)

e fau o foamenl O O TE S W =EE SRt

(1)
2)
(3)
(4)

[Question ID = 5106][Question Description = Q79_Laborwel_SHAAN_05Dec21_52_5hift2]

(D)  Business Results

(E)

Choose the correct answer from the options given below :

(L
(2)
(3)
(4

(4). (B). (E). (C). (D)
(B). (C). (D), (). (E)
(D), (E). ). (C). (B)
(E). (A), B), D), (C)

e

FUT F Ty SAIEIF e
FEm w faem

U g

(A), (B), (E), (C), (D)
(B). (). D). A). (E)
(D). (E). (A). (), (B)
(E), 4. B). D), (C)

1. 1 [Option ID = 20424]
2. 2 [Option ID = 20425]
3. 3 [Option ID = 20426]
4. 4 [Option ID = 20427]

80)

SIS 31T 9 % FTUR URY | 3d oo 9% anfaie & %A 1 Frafafiad = ge:

Sequenfially arrange the following according to their emergence from the earliest to the
latest as given by Bolwijn and Kumpe

(A) The Innovative Firm

(B) The Efficient Firm

(C) The Quality Firm

(D)  The Flexible Firm

Choose the correct answer from the options given below :

@ (O, [B), D). &)
2 (A, (©). ®B). D)
3 (B, D). A O
@ B. 0. 0. &

Reaction and Planned Action

prepp
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(&)  snfEaewrt gideE
®) g viaE
(© o wideE
(D)  wwE gideE

He feu 0 fameal 4 9 @& o @ = Hife

€)
2
(3
€

[Question ID = 5107][Question Description = Q80_Laborwel _SHAAN_05Dec21_52_Shift2]
. 1 [Option ID = 20428)
2 [Option ID = 20429]
. 3 [Option ID = 20430]
. 4 [Dption ID = 20431]

e it B

81)

Arrange the following Indian Trade Unions/Organisations on the basis of their founding year

(€). (B), D). (W)
(A), (C), (B). ()
B). D). (A). (C)
(B), (C), D). (A)

from earhest to latest.

(&)
(B)
©
(D
(E)

Indian Trade Union Federation

The Indian Federation of Labour

The Indian National Trade Union Congress
All India Trade Union Congress

Bhartiya Mazdoor Sangh

Choose the correct answer from the options given below :

(D
2
(3)
@

(D). A, (C), (B). (E)
(D). (&), (B), (C). (E)
(A). B), (C). D), (E)
(E). 4). B), (©). D)

Faferfiga aftes 9o /oear & 39 W=ar 99 % %A § YR O sifen g geni-

(A)
(B)
(©)
(D)
(E)

I Toige &

Hi=r fau U fampeat o @ wEl 9 W = Hifey

(1)
(2)

D). (A), (C). (B). (E)
D). (&4), B). (C), (E)

prepp
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(3) (A W1B), (), W), (1)
@ ®.A,®B). 0. D

[Question ID = 5108][Question Description = Q81_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Option ID = 20432]
2. 2 [Option ID = 20433]
3. 3 [Option ID = 20434]
4. 4 [Option ID = 20435]

82) Arrange the five steps in developing Behawviourally Anchored Rating Scales (BARS) from the
beginning to the end.

(A)  Scale critical behaviour

(B) Develop BARS instrument

(€) Identify performance measures
(D)  Retranslate critical behaviours

(E)  Identify critical behaviours

Choose the correct answer from the options given below

(1) (O, (E). (D), (A). (B)
2y (E).(C). B). D). (A)
3 (E), @A), ©€), D), @B
4  (©). D). B). ), (E)
SUER GEIa YeAid Ahds (BARS) # Fiefya w1 % uiw woomd o 9RY ¥ 9@ F WA A
SafErd W
(&) Tl Gedie foefe
(B) @ (BARS) s=griwe famfia am
(© oo ami = wEEm
(D) TR =EERT H YA giEfad wE

(E) il =wagit bl gg=rH =
f9 fow U frew § © TE ST T 99 SN

O (©O. E). D). A. B)
@  E.O.B).O). &
3 (E).A), ©). D). B
4 (O, D), B, (A), (E)

[Question ID = 5109][Question Description = Q82_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20436]
2. 2 [Option ID = 20437]
3. 3 [Option ID = 20438]
4. 4 [Option ID = 20439]

83) Arrange the main schemes of workers participation in management according to their year of

formation from latest to earliest.

(A)  Joint Management Council
(B)  Shop Councils
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(C)  Board-Level Participation
(D) Institutes of Employees, Participation in Management for Publhic Sector undertaking

(E) Works Committee

Choose the correct answer from the options given below :

(1) (D). (B), (C). (A). (E)
@ B ©). D). ). (E)
3  (©). D). &) B), (E
@ (©0.®B) A). D) E)
TS H FIETR TR 1 T6A AT i ST TAT a9 % ITYR W SAan ¥ IRAS a5 weg O
(&) IR TEEE TiE
(B)  pHumen aiye
(©) = E-TR wEfE

(D)  ErESh &5 STHA % 100 TEYA § wEr] SR i Je
(B) T afafa

9 feu o famedt § O TEl SOX T W ST

@ D). B, O, (A). (E)
2 (B (C). D), ). (E)
3  (C), D). A). (B). (B)
49 (O, B) ), D), E

[Question ID = 5110][Question Description = Q83_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20440]
2. 2 [Option ID = 20441]
3. 3 [Option ID = 20442]
4. 4 [Option ID = 20443)

&4) Arrange In a sequence from first to last the schedules as mentioned in the Industmnal
Disputes Act, 1947.

(A) Matters within the jurisdiction of Industrial Tribunals

(B)  Unfair labour practices

(C) Industries which may be declared as public utility services
(D) Matters within the jurisdiction of labour courts

(E) Conditions of service for change of which notice to be given

Choose the correct answer from the options given below :

@1 D). A). ©). B). (E)
2 (B, D). A, B), (O
3 (O). D). (A). (E), (B)
@ B). D). A).E) O

Fraifies faare sifafem, 1947 A vt sgfat = vom 9 sifam T 79 9 3o



Www.prepp.in
(A) ST =R % 86 W ST
(B) 3G M HEER
(© 8 v=m R drmEet Janst A ol o @ o 3
(D) 49 —=HTer % 85 % ST fawE
(B) @ =1 o o ofds % foe gen & s 2 )

Hi=r fau U famredl O © GE 39 w1 99 Fi

D
@
(3
4

D). A, (O). (B). (E)
(E). @), &). (B). (C)
(©). @). (). (E). B
(B). (D). (A). (E), ()

[Question ID = 5111][Question Description = Q84_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20444
2. 2 [Option ID = 20445)
3. 3 [Option ID = 20446]
4. 4 [Option ID = 20447]

83)

The following are some of the committees and commissions set up in India to study the
problems of labour and to suggest measures. Arrange them in a sequence from the earliest to
lastest as per their year of set up.

(A) Second National Commission on Labour

B) Royal Commission on Labour

(O Labour Investigation Committee

(D) National Commission on Labour

(E) Bombay Textile Labour Enquiry Committee

Choose the correct answer from the options given below

1 E.®B), D)., A
@ (©O.5E.6.0O.
3 @B . C.O.®
@ D). B @A.E O

H v d onfua T afufemt ot s & 9w fiw w1 w E 5 am i THenst w SvEE W SuE

HAET AT | 27 THTET 99 % STHE W URR § a0 9% O

@ Tl wl om smm

(B) U@ A @M

(©) w1 3r=a9o Gt

D) T 7 A

(B) il =931 5M y=ars A

= fow o fameat € © 98 I o = Fifu
1  E), ®B), D). ), A

(2)

(©), (E). (B). (D). (A4)

prepp
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3
D

®B). (E), (C). D), (A4)
(D). (B). (A). (E), (C)

[Question ID = 5112][Question Description = Q85_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20448]
2. 2 [Option ID = 20449]
3, 3 [Option ID = 20450]
4. 4 [Option ID = 20451)

86)

Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled as
Reason R.

Assertion (A): In the post economic reforms era, Indian business houses 1nitially had to

take strong decisions in terms of cost cutfing measures and human
resource rationalization.

Reason (R) : Economic reforms opened up markets and allowed foreign direct
investmnet causing the domestic mdustry to compete on uneven level
playing ground.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

i g FeA B T 3 ww 1f9EYR Assertion (A) % ¥4 § foifiga 2 4 39U 35% FW Reason (R) %

.
T H

Al (A) i ol = @1g % T 7 R SAGWEeE WA B ArE § wadl B 9l

AR TFE GEEd % e 6 2 ¥ we o o g

HRO (R): AT Gari 9 a9 w G G R e gow few A et & T e

FEFT =) TR-aed % Tt 9T Nfaedet 1 TmAT 0T US|

SR YA o AT °, A o T fmew O Tl SUT® IR A 9 HIT

D
)
(3

(4)

(A) ¥R (R) 31 Wl 2 3R (R), (A) =1 Tt =amen 2 |
(A) 3 (R) 3T wEl &, A (R), (A) = T8 =amen 78 2|
(A) T& 2, T (R) Tl &1 2 |

Q) wEr 78 3, afm ®) wd 2

[Question ID = 5113][Question Description = Q86_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20452]
2. 2 [Option ID = 20453)
3. 3 [Option ID = 20454)
4. 4 [Option ID = 20455]

87)

Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A):  Disguised unemployment 1s present in Indian agriculture sector in India.

Reaenn (R - Mormally mareinasl nrnduetimty of acmenrnltiare 12 hich

prepp
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In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
{(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

D (A) 1s not correct but (R) 1s correct

9 21 =em faw e £ ek sifiEReA Assertion (A) % ¥ § foTRga 2 af g9 39 FWW Reason (R) &

s
EJH

R (A) IR BT 57 F TozA stierndt o 2

Hru (R) : wE=: F H i senewa 39 B 2

IR U ATrs |, A 2T 70 e 4 U gen SR SR A T I

(1)

)

3

(4)

(A) 31 (R) I wE & 3R R), (A) F1 78 == 2|
(4) &t (R) 31 Wl 2, @i (R), (A) 1 T8 =aren 74 & |
(A) 9 2, <f (R) w8t 78 2|

(A) T2 TE § AT (R) 9T 21

[Question ID = 5114][Question Description = Q87_Laborwel_SHAAN_05Dec21_52_Shift2]
. 1 [Option ID = 20456]
. 2 [Option ID = 20457]
. 3 [Option ID = 20458]
. 4 [Option ID = 20459]

1
2
3
4

88)

Given below are two statements : one is labelled as Asseriion A and the other is labelled as

BReason R.

Assertion (A):  Performance appraisal cannot be error free and unbiased.

Reason (R) : The appraisal methods are covertly influenced by human judgement which

may vitiated by inter-personal discriminatory impulses.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

A= 9 wuT fau 1w § ;v SAfiEYA Assertion (A) % &Y A fafga ¢ At 3% w0 Reason (R)
ol

%Eﬁlﬁ

prepp
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O (A) TS W JoATeh The-Tred IR vama-Ia Tai 21 Wbt 2 |

1O (R) : TeaA T T w9 ® 5 e g weiiEa 2R 2 S 9o - daaaT
TSR g St B T 2 |

ST BY STk 5, 4 3 T forpeTi 8 @ eH SUTw ST o T i

D Q) ®) I FE F SR (R), (A) F = e 2

(2 @) 3k ® w2, S ®), Q) i v swen T 2
@ Q)T 32, dfm @)@ T R

@ Q) w2 R ®) @@ 2

[Question ID = 5115][Question Description = Q88 _Laborwel _SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20460]
2. 2 [Option ID = 20461]
3. 3 [Option ID = 20462]
4. 4 [Option ID = 20463]

89)  Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A):  Occupational diseases are those arising out of or mm the course of
emplovment.
Reason (R) : It 13 a health problem caused by exposure to a workplace hazard. It 1s

caused by the substances or conditions that the worker was brought into

contact with at the workplace.

In the light of the above statements, choose the most appropriate answer from the options

given below : :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

9 o 9 T T 3 TF IUEUR Assertion (A) ¥ ¥ ¥ 4 @ O U S9F FO Reason (R) %

s ad (A) I | 02 T o U7 3 <A Fai=e < Fror @ P = SnE gid 21

i (R) R U WA FHEN & S B % @al 4 9% § SH ¥ widl 2 | 98 39 ugid 4
ol  Frw 5 £ S IR T S T Gl 5 959 $

IR FA F @S 0, A faw U e § ¥ Tuy 39T ST B 9 I

1) (&) ik R) g1 @dl £ AR (R), (A) h @&t = 21
@) (A) 3 R) I @@ 2, e (R), (A) Y T s 76 7|
(3) (A 2, wfe (R) wdl 78 21
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@) Q= R Al R) w2

[Question ID = 5116][Question Description = Q89_Laborwel_SHAAN_05Dec21_52_Shift2]
. 1 [Option ID = 20464]
. 2 [Dption ID = 20465]

1
2
3. 3 [Option ID = 20466]
4

. 4 [Option ID = 20467

90)

Given below are two statements : one is labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A): Labour welfare is part of social welfare., both conceptually

operationally.

Reason (R) : It covers state of well being, happiness. satisfaction, and conservation and

development of human resources.

In the light of the above statements, choose the most appropriate answer from the options

given below : :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
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1) Read the passage carefully and answer the question that follows:

Technology. these days has invaded every aspect of our lives. In fact. we now try to measure
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,
water intake and every conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market Though
many of these applications are truly useful to measure health parameters like blood
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whom it becomes their personal health information guru. If the health parameters do not
match the desired outeome of the application they are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvehiatrists disapprove of our dependence on gadgets to asses our health They
refer to it as the 'over monitoring syndrome' Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
evervy human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate your life.

Health devices are useful for

(1)
2)
@)
4)

Checking our moods
Keeping oneself fit and happy
Keeping a track of everyday activities like exercise, sleep ete.

Monitoring leisure and work activities
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2)

Read the passage carefully and answer the question that follows:

Technology. these days has invaded every aspect of our lives. In fact. we now try to measwe
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,
wrater intake and everv conceivable asnert of ife Health and finess i= mesasared bv a
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smart watch, fitness band and other wearable applications available in the market Though
many of these applications are truly useful to measure health parameters like blood
pressure, heart rate ete. for ailing; theyv have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
match the desired outeome of the application they are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvehiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring syndrome' Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the foecal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by cur physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate your life.

The advice of medical practitioners is that we should measure health by :

(1)
(3

Physical fitness (2 Mental fitness
Social wellbeing (4) All the shove
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Read the passage carefully and answer the question that follows:

Technology. these days has invaded every aspect of our lives. In fact. we now try to measwe
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,
water intake and every conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market Though
many of these applications are truly useful to measure health parameters like blood
pressure, heart rate ete. for ailing; they have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
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mateh The desired ourcome oI The APPLCATION TASY are using, I Causes anxlety and SIress.
Many health freaks end up with obsessive compulsive disorders.

Several psvehiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring syndrome' Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the foecal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by cur physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate your life.

The drawbacks of health devices are :

(1) They are too bulky

(2) They are very costly

(3) They cause pressure and anxiety in users

(4) They are cause of too much distraction
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Read the passage carefully and answer the question that follows:

Technology. these days has invaded every aspect of our lives. In fact. we now try to measwe
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,

water intake and every conceivable aspect of life. Health and fitness is measured by a
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many of these applications are truly useful to measure health parameters like blood
pressure, heart rate ete. for ailing; theyv have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
match the desired outeome of the application they are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvehiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring syndrome' Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by cur physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate your life.

The ideal way to assess our health is by :

(1) Using health gadgets which measure all our parameter

(2) Talking to a doctor

(3) Listening to our body

(4) Asking family and health experts

e Teire 3 SHYd S ue 3N 0 o i S
3ofdbe] B Ot & 2 & = UIENdr &7 U 21 971 8 | S °] 32 2 (o 3 &9 39 oid= & & Uaa],

&

qT 3 Suae Tore] & TRl & AT = & | 57 Ty S & TErdr 8 & 30 T

PRt TfaieieRl & e W@ g6 & 59 A5, 99, 550 9 o9d, 9T R, (60 T =, (A
uT= g7 SR e P & S DHe-d U2cl | FaIEed 9 degoed] &l A4 EIE did, e 49 sl gaR
5 SToTet 37 URERT ST H {GaT 9T 2 | ETdlid 574 o By SuHll b 9] 3 559 F 959 &t
I TR & 7S @ 3BT~ gga: SR €, 1R 3@ 3 Iug @F % Sfirg= R 2T 81 g 2 el
G dGfeichs T o T 3 WY o b 8 | IS ETed & J-d JUHUl & S YR & 767
=2l 2B, A1 3 a1 377 a9 g T B | Ty 9 e A1 f[Ifad T84 aTel oW O TR aredar
A frerR S I &1

WY & Jeaie & o Suauil R &N Aiear &7 &8 FfRiecas sgfEE I9a 19 3

‘AT RAHFT $ Hel <d 21 TR TR TR T8RS IR -G Treeyg $ Haie Hoiae 21 5
S U IR B A G B USR] b 3] bl SHER 9d B 8 (b 2 T AR g 3T a7 e
& UT B o @ AlE At 1 72 | OF W AFR 0B o U 376N &, d) 1 Bl Sya Fe-FE &
MR & AP B ATBAT B Hbdl &1 $594 UF SR -1 92 2 (3 Wol/ 391 & Hlel TqTee] el
AR TEAT W B WY @ IR B oeg & W B A ST # Frafeg 991 od 81 R
FIAAGT B FAIE I3 2 6 WEY Siga A Fufa $5 @ 4R £ 98, FAE R 99s
Hearor, 7 (5 7= $f 3¢9 1 SHAT ST & Fe ¥ ST $9 3l 9 219+ Sig- 92 &rdt A
EIEc

AR R *h oA 1 IEY al# 2

(1) =9 2 ST %1 9A HE S gaR w4t 5 A A 8
2 Fafecas 8 s o

(8) 3w it < g

(4  iER IR w9 g

[Question ID = 5121][Question Description = Q94_Laborwel_SHAAN_05Dec21_52_Shift2]

1, 1 [Option ID = 20484]
2. 2 [Option ID = 20485]
3, 3 [Option ID = 20486]
4. 4 [Option ID = 20487]

3)

Read the passage carefully and answer the question that follows:
Technology, these days has invaded every aspect of our lives. In fact. we now try to measwe

every aspect of our lives with gadgets and gizmos available in the market. These health
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water intake and every conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market. Though
many of these applications are truly useful to measure health parameters like blood
pressure, heart rate ete. for ailing; they have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
match the desired cutcome of the application they are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring syndrome'. Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
evervy human being is different. can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoying the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the foeal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by cur physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate your life.

What becomes the focal point of exercise?

(D Enjoyment of simple benefits of exercise

(2) Completion of target

(3) Pleasure of sport

(4) Pleasure of exercise
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1)

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (5-VYASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant”™ reduction in heart rate during Om meditation. This. according to the
researchers, suggests a deep psycho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that locked at performance in
cancellation tasks (a psychometric test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Meditation benefits the :
(1) Body (2) Mind
(3) Spirit (4) All the these
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2)

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (5-VYASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant” reduction in heart rate during Om meditation. This. according to the
researchers, suggests a deep psycho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that locked at performance in
cancellation tasks (a psvechometrie test of visual perception and vieilance) in seventy healthv
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subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, whichuses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Transcendental meditation uses :

(1) BSleep mode (2) Sound or mantra

(3) Music (4) Psycho physiological phenomena

FAGIRET TEn 9 SIFYd & U 3R 99 & I < :
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Y Yl dgdr & | Fox Sy [A9d) 3 deigH Seal (fRde T wadar & HifAfds o) &
(FTSaT=A ¥ Hafe OF e 5 — 5 ol - S U UBel a0l (&1 - UTal &1 {6 FAihaur & g2
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[Question ID = 5124][Question Description = Q97_Laborwel_SHAAN_05Dec21_52_5hift2]
1. 1 [Optien ID = 20496]
2. 2 [Option ID = 20497]
3. 3 [Option ID = 20498]
4. 4 [Option ID = 20499]

3)  Readthe passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (5-VYASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant” reduction in heart rate during Om meditation. This. according to the
researchers, suggests a deep psycho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that locked at performance in
cancellation tasks (a psychometrie test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.
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What was discovered during Om meditation in the study conducted by S-VYASA?

(1)
(3)

Reduction in Pulse-rate (2) Reduction in Vision

Reduction in Heart-rate (4) All the these

FATGIRET TEny 3 SIMYd & U 3R 99 & I & :

47170 & T [Gdebrie AT JTAE (CH-1H) & IEIIAl = 31 £qie0T & SR 8- = & ared
TRl &1 (32T 62T | eI 3T e aay $ SNF g9 = B! fog Mieaaa g d
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Y Aol agdr & | Fox Sareey [49d) 3 dheeH Sval (SfRded wadbar & HifAfde o) &
ST ¥ FEER O 3T 5 - $S il - TG 8 TSl st (T - TR W1 & FAGa0 § g
U T & ST g e £ |

Aerpdiedl 4 (5g (31 2 (3 TS0 ¥ Tg-Aah HAT-P YR 2id 2 [oFa Heaer 3y,
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[Question ID = 5125][Question Description = Q98_Laborwel_SHAAN_05Dec21_52_Shift2]

oW o

4)

. 1 [Optien 1D = 20500]
2 [Option ID = 20501]
. 3 [Optien ID = 20502]
. 4 [Option ID = 20503]

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (S-VY ASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant” reduction in heart rate during Om meditation. This, according to the
researchers, suggests a deep psycho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that looked at pexrformance in
cancellation tasks {a psychometric test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

What 1s the impact of mindfulness meditation according to EEG recordings?

(L
2
(3
(4

It improves relaxation
It reduces relaxation
It has no impact on relaxation

It has negative impact on relaxation
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FAGIRET TEn 9 SIFYd & U 3R 99 & I < :

4TS & T (G4 PI-E I IFTHE (CH-TH) & IEGI - 3 SR 6 S I - & arel
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[Question ID = 5126][Question Description = Q99_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Option ID = 20504]
2. 2 [Option ID = 20505)
3. 3 [Optien ID = 20506]
4. 4 [Option ID = 20507]

3)

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (5-VYASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant” reduction in heart rate during Om meditation. This. according to the
researchers, suggests a deep psycho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that locked at performance in
cancellation tasks (a psychometrie test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Whatis the impact of meditation on cancellation tasks?

0y
(2)
(3
)

It reduces after meditation
It improves after meditation
It has no impact

It has negative impact

FATGIRET e 3 £IMYd & U 3R U9 & I o :
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[Question ID = 5127][Question Description = Q100_Laborwel_SHAAN_05Dec21_52_Shift2]
1. 1 [Optien ID = 20508]
2. 2 [Optien ID = 20509]
3. 3 [Option ID = 20510]
4. 4 [Option ID = 20511]

Topic:- GP36_D1_SH1_SetZ_A

1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds} in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 |56 (3.5 7.6 7.7
2017 7.7 5.3 .9 3.3 |44 55 6.6 .7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 J3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11,9 IB.ﬁ 69 (7.6 .4 [7.9 [7.6

et &l LAeigde ezRTel &t A i R gra a1 amz & :
i €1 o1 enferent 3 4 fafiear Tl (A, B, C, D) 3f 5 fafica adt # avael vd aiferenil &t s (Hwst i) d a2

(M - srer, F - aiféreTd)

oy — A B C Ip

| o M F M F M F M F
2016 4.2 4.7 b.3 k.2 e [3.5 e 7.7
2017 7.7 5.3 b9 [B.3 W44 .5 b6 |7
2018 10.4 7.9 5.7 5.3 |59 |6.4 [3.8 [3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 |65 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 [7.9 7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.
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ad 2016 - 2020 @ sher Tager A iz wper B 3 siorst bt sizear @ di siae s o3 ¢
[Question ID = 25314][Question Description = 52_qSNz_PG_GP36_Q01]

1. 440

[Option ID = 41256]

2. 445

[Option ID = 41257]

3. 450

[Option ID = 41258]

4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows ;

prepp
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The given table has the number of boys and girls (in hundreds)} in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School —s A B C D

1 Year M F M F M F M F
2016 4.2 4.7 b.3 .2 5.6 (3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 W7
2018 10,4 7.9 5.7 5.3 [5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 |a.e 69 [7.6 .4 [7.9 |76

TIERET DI AT ARG W3 I3 oikl fow geet w1 s & ¢
ofix &t o uferor & 4 fifiea Tl (A, B, C, D) 3 5 fafice adl 3 @l vd aiiironil & sw=n (Jost #) &t s 2

(M - s, F - aferem)

ToU — A B c Ip

| o M F M IF M F M F
2016 4,2 4.7 6.3 .2 5.6 PB.5 [7.6 [7.7
2017 7.7 5.3 5.9 [3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 |43 |65 [6.8
2020 9.5 11.9 le.s |ﬁ.9 7.6 5.4 [7.9 7.6

Which school has the lowest number of girl students enrolled during 2016-20207

ad 2016 - 2020 & Siver Rrow yoa A sraiflsa swopsi 6 s aaa oxn 3 7
[Question ID = 25315][Question Description = 52_qSNz_PG_GP36_Q02]

1. A

[Option ID = 41260]

2. B

[Option ID = 41261]

Jaill

[Option ID = 41262]

4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls {in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

1 Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 Tl 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
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2019

6.5

10.7

7.4

6.5

6.3

4.3

6.5

6.8

2020

2.5

11.9

8.6

6.9

7.6

5.4

7.9

7.6

TIeRBT DI AGIEE ARGl W3 I3 ikl iw geet w1 sae & ¢
oik) €t =1 anferor & 4 Rif$es =l (A, B, C, D) 3 5 ffira qul 3 arcrel vd aiftwoil &t s (Fwst #) & o 3

(M - sra, F - aferend)

e A B C Ip

| M F M F M F M F
2016 4.2 4.7 6.3 .2 56 [3.5 7.6 [7.7
2017 7.7 5.3 be [.3 44 55 |66 4.7
2018 10.4 7.9 k.7 5.3 5.9 6.4 [3.8 3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 |65 6.8
2020 lo.5 11.9 IB.ﬁ 6.9 [7.6 [5.4 [7.9 [7.6

Which school has the maximum number of boys enrelled during 2016-20207
ad 2016 - 2020 @& Siuel foom Tage1 A oifésa arernt &1 Hiom wafttrs 2 ?

[Question ID = 25316][Question Description = $2_gqSNz_PG_GP36_Q03]
1, A

[Option ID = 41264]
2. B

[Option ID = 41265]
3. G

[Option ID = 41266]
4. D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

prepp
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The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 |B.6 6.9 7.6 2.4 7.9 7.6

anferest wr sarergdas sreraer wi iz ol Re e i 39 § ¢
ity & o enferaw & 4 Rfdwa wapal (A, B, C, D) 3 5 Rificer aal # arawt od aiftrownpi & dwe (Fosi #) =€ 3

(M - seres, F - arférasid)

e — A B C Ip

| o M F M IF M F M F
2016 4.2 4.7 6.3 .2 56 [3.5 7.6 [7.7
2017 7.7 5.3 b9 B3 4 |55 [6.6 |47
2018 10.4 7.9 b.7 5.3 5.9 6.4 [3.8 3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 |65 6.8
2020 lo.5 11.9 IB.ﬁ 16.9 7.6 5.4 [79 [7.6

wWhich school has the minimum percentage increase in total student enrollment {(both boys and girls) from 2019 to 20207
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fepz1 7amer 9 2019 3 2020 o ol & o0 adidd (A iz aifamn ) 3 ogeran yfeem afg g2 ?

[Question ID = 25317][Question Description = $2_qSNz_PG_GP36_Q04]
1. A

[Option ID = 41268]
2. B

[Option ID = 41269]
3. C

[Option ID = 41270]
4. D

[Option ID = 41271]

%) Study the table carefully to answer the question that follows :
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The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B c D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 [7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 .7
2018 10.4 7.9 5.7 5.3 5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 |8.6 6.9 7.6 5.4  [7.9 7.6

aferert @t exarergdas revrre Wi iz A Re gear wrswe § ¢
ofl & > enfert & 4 fRfdear el (A, B, C, D) 3 5 Rifiser adt # arcot vd alfrrni O dwe (Jod ) $ o8 8

(M - aere, F - aférasid)

e — A B C I

| o M F M F M F M F
2016 4,2 4.7 b.3 k.2 e [.5 e 7.7
2017 7.7 5.3 b9 [B.3 4 55 6.6 |47
2018 10.4 7.9 5.7 5.3 5.9 6.4 [3.8 3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 Ia.e 6.9 [7.6 [5.4 [7.9 [7.6

Which year has the minimum number of girls enrolled during 2016-2019?

aef 2016 - 2019 @ Sizer Rea o cimifcea anférmail &t s oern & ?

[Question ID = 25318][Question Description = 52_qgSNz_PG_GP36_Q05]
1. 2016

[Option ID = 41272]
2, 2017

[Option ID = 41273]
3. 2018

[Option ID = 41274]
4, 2019

[Option ID = 41275]

Topic:- GP36_D1_5H1_Set2 B

1) Which among the following is a MOOC platform?
fBrmter3oe 3 31 wior a1 war 31 a1 30 (3w) Qv 8 7

[Question ID = 25324][Question Description = 52_qSNz_PG_GP36_Q06]

1. Urkund/z=ms
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[Option ID = 41296]
2. Jitsi Meet/forl v

[Option ID = 41297]
3. Coursera/wEEa

[Option 1D = 41298]
4. Google Meet/sprT e

[Option ID = 41299]

2) Identify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When someone in the meeting gives you access you will join it,
Choose the correct answer from the options given below:

IoTcl Hic 317 Fdisol deol B AEL TI0T Ty ¢

A, Iz Uz ot iz i fra® ®3

B. snro ¢ odizel foa® o3

C. g 7 Aiies @I foras @3

D. meet.google.com uz smd

E. ora 3iifesr 3 @I siaepl uarals ¢ 2, dl 2 331 sdizel il

ol 12w a1v faeseal 3 3 7l Iz @1 ol DI ©

[Question ID = 25325][Question Description = $2_gSNz_PG_GP36_Q07]
1. A, B,D,C,E

[Option ID = 41300]
2. D,C, A BE

[Option 1D = 41301]
3. E,A,B,C,D

[Option ID = 41302]
4. D, A EB,C

[Option ID = 41303]

3) Given below are two statements

Statement I: Operant conditioning was discovered by Thorndike.

Statement |l: Classical conditioning was discovered by Ivan Pavlov.

In light of the above statements, choose the most appropriate answer from the options given below
oifl o were Ru smw 3 ¢

wera - | @ R g snicaoietl @t w1 ddfotss of o ot

wead - || & aenlRrh! s &) st sam Saddia o & o

IRITD UGl D ke 3, ik By s¢ Rioodl 3 A 9138 sz ot @ $ifbm

[Question ID = 25326][Question Description =52_qSNz_PG_GP36_Q08]
1. Both Statement | and Statement [l are correct/mem | 4 || Sl =t &

[Option ID = 41304]
2. Both Statement | and Statement |l are incorrect/mwam | i 1] 23 s &

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/wem | =it |, Foog oem (| sem

[Option ID = 41306]
4. Statement | is incorrect but Statement [l is correct/mem | s &, feey e || 38 £

[Option ID = 41307]

4) Identify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding
B. Presentation of advance organiser

C. Presentation of study groups
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D. Presentation of learning task or material
E. Strengthening cognitive organisation
Choose the correct answer from the options given below:
' gsai siElessk disar @ im Rgen @ #Edl gevr ugame ¢
A. URRERI 3051 W1 YRAIFIREIv
B. usara siisleiesiz ® Ydrileun
C. Jeerre Gl W1 YFIrilaIvn
D. affeme wrl a1 AaEE]l o1 YEarilison
E. dsneieas Fsod @ AerbinIur
i) f8u a1 fRepedl 3 A A6l Se @l w=s ifans :

[Question ID = 25327][Question Description =52_qSNz_PG_GP36_Q09]
1. A,Band C only/d@am A, Bafiz C

[Option ID = 41308)]
2. B,Cand Donly/@mm B, Caie D

[Option ID = 41309]
3. B,DandEonly/®=a B, D sz E

[Option ID = 41310]
4, C,DandEonly/sam C, DA E

[Option ID = 41311]

5) Match List | with List Il

List | [List 1

Human ability per Gardener's theory of ekl
ills
Multiple Intelligence

. I. Ability to appreciate and produce rhythm,
A. Linguistic : i
one, pitch and timbre
B. Logical-mathematical lll. Ability to handle leng chains of reasoning
C. Musical [, Ability to recognise plants and animals

: IV. Sensitivity to different functions of
D. Naturalist
lansuage

Choose the correct answer from the options given below:

2t | 1 3t -l B R b ;

x| el I
ST 5 - o ( ]

( ag - gly @ Higit @ agpeme lfestorc)
AT AP}

. . ©rer, wer, areea iz worm & dassn o AT T
A, s Breaa Al

e bt AR
B, o - s wweh |1, =it et - giwremadi WY St @5 Ao
C. Fisfie zideht ). e siiz ofidi @Y e @1 A
D. yepfrard V. s & fafdror il @ gy Hdzsreltery

ol By w0y Fravedt 3 3 wd) wee gftny @

[Question ID = 25328][Question Description = 52_qSNz_PG_GP36_0Q10]
1. A-IV,B-1I,C-1,D-1I

[Option ID = 41312]
2. AILEB-L,C-1LD- 1Y

[Option ID = 41313]
3. A-1L,B-II,C-1v,D-1I

[Option ID = 41314]
4. A-NL,B-IV,C-1,D-|

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?
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3717 -~ gQeaarar Boaftfaa i 3 Roa colar & d@dffia § 7

[Question ID = 25329][Question Description = 52_qSNz_PG_GP36_Q11]
1. Subjectivism/Rmfrsmoag

[Option ID = 41316]
2. Critical Realism/smsitsieas aramas

[Option ID = 41317]
3. Empiricism/siargsrras

[Option ID = 41318]
4. Objectivism/gzgcrormas

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect,
Statement |l: Sampling error occurs due to the violation of the principle of random sampling.

In light of the above statements, choose the correct answer from the options given below

ofidr < werer e s & ¢

el - | 3 e - | git aa 2t 2 s/ sraa 9lg ufreusn @1 sl s &ar aw 8

el - |l 1 weRkew gitrrm @ firgia @1 Jocias ool © vl gftcra g 2kl &

IURITE D6l B ACIRD #, ikl fow 21e fawcdl d 1 w1l sz @1 o difemw ¢

[Question ID = 25330][Question Description = 52_qSNz_PG_GP36_Q12]
1. Both Statement | and Statement Il are true /=@ | iz |l S&f arg &

[Option ID = 41320]
2. Both Statement | and Statement [l are false/mem | dr || Sl sreea 2

[Option ID = 41321]
3. Statement | is true but Statement Il is false/mew | 37a & , R’oog e || apra &

[Option ID = 41322]
4, Statement | is false but Statement Il is true/wem | spwa 8, Fosg wem || aa &

[Option ID = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below

oftax €t weer e s1w ¥ 1w Afdrweer (Assertion A) @ wa & iy garer 351d wieor (Reason R) & =a &

siffreperet (A) @ Brooyd o ArAcdIasyer oo arqcsrs seaweil # dwa 3

rzer (R) : snapenas siezrersil 9 Bremsencass aaforr o sader Rvar sirar 8

I3 weell a5 sty #, ofil v Broedl § 3 58t 303 o gua $Hifsne :

[Question ID = 25331][Question Description = 52_qSNz_PG_GP36_Q13]
1. Both A and R are true and R is the correct explanation of Af{A) sz (R) gt 73 £ d= (R), (A) © =t o &

[Option ID = 41324]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} @iz (R) gl ma & o3y (R), (A} &1 28 =ee=n ot 2

[Option ID = 41325]
3. Afs true but R is false/ (A) == E, &y (R) spreer 8

[Option ID = 41326]
4. Ais false but R is true/(A) aew= 8, aifisa (R) aieT

[Option ID = 41327]

9) Which among the following are statistical packages?
A, SPSS

B. SAS

C. ANOVA

D, STATA

E. R

Choose the correct answer from the options given below:
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faramferfior A 3 wisr A wilkwrda Go= § 7
A. SPSS
B. SAS
C. ANOVA
D. STATA
E.R
ol fou sre faepodl 3 3 1l st @1 ags difen ©

[Question ID = 25332][Question Description = 52_qSNz_PG_GP36_0Q14]
1. A,B,Cand Donly/daa A, B, C A= D

[Option ID = 41328)]
2. B,C,DandEonly/s5a= B, C, D a4z E

[Option ID = 41329]
3. A,B,CandEonly/dae A, B, CE E

[Option 1D = 41330]
4. A, B, DandEonly/saa A, B, DA E

[Option ID = 41331]

10) Ethnography refers to

veals[bl 1 AMI9RT 2 -

[Question ID = 25333][Question Description = 52_qSNz_PG_GP36_Q15]
1. A research design that rules out alternative causal explanations of findings deriving from it/ues sier aifimsea ST 3= gra Fread! &) dffos o - T
T @ A o 2

[Option ID = 41332]
2. An attribute in terms of which cases do not differ, feus oy Bexb =Re 3 @i 3 iz =23 2o 2

[Option ID = 41333]

3. A research method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of
particular culture, society or community/ea i ffE B grread Peelt Riftree vk, e =0 HRer @1 guicl B0 @ B g avd saff am 321 amses uibdas
Fmmd

[Option ID = 41334)]
4. A measure that is employed to refer to a concept when no direct measure is available/ e For S el @ o1 2ngr w6 wwl & fon kear snor € ol
IS Yrelsl Jr I0cr SEf S 2

[Option ID = 41335]

11) ldentify the correct sequence for successful communication.
Hbel dAYHUT & e 3 geA usdl |

[Question ID = 25334][Question Description = §2_gSNz_PG_GP36_0Q16]
1. Sender — Encode message — Channel — Decode message — Audience — Feedback/Qas — Fgw &1 o d8aw T — Judd — Jd9l o1 REdaw w3 —
oflelt — HisdT

[Option ID = 41336]
2. Sender — Encode message — Audience — Channel — Decode message — Feedback/fmr — Fider ol ax Ji @3l — gkt — Jord — J29 w1 Rekdrer
TRl — Tisin

[Option ID = 41337]
3. Sender — Encode message — Decode message — Channel — Audience — Feedback/Uas — Jidel o G Idxi o0 — Fagl o MHDad ol —
TareT — giFT — Hisaw

[Option ID = 41338)
4. Sender — Encode message — Channel — Decode message — Feedback — Audience/Qus — Say o1 o 3fas &7l — eio — JHaw oI o o —
Gz — g

[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?
forgmteian A 21 wia 21 / 3l e @& oo sl / arcrasvitr snen 2 ?

[Question ID = 25335][Question Description = 52_gSNz_PG_GP36_Q17]
1. Time /@

[Option ID = 41340]
2. Personality /eirmeg

[Option ID = 41341]
3. Power/authorityfzmm / qifree

[Option ID = 41342]
4, Culture/==g

[Option ID = 41343]
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13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

=P Aol Tlaav Fte ® BRI © ai # Ridel @2 Ft E ag g o) aew @ m Kt 931 @ & e Fanfta o & ae d ke @i gam=
™2 T8 8 ag ufveed I IIET &

[Question ID = 25336][Question Description = $2_qSNz_PG_GP36_Q18]
1. Interpersonal communication /smdaftees St

[Option ID = 41344]
2. Intrapersonal communication /s dmiRne RE

[Option ID = 41345]
3. Mass communication/S&a Jimo

[Option ID = 41346]
4, Didactic communication/IuSemere Himm

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology’ form of communication?

forrafer¥ne 3 31 wler a1 A Qw0 "get Lasilisll’ gReg wr I35 § 7

[Question ID = 25337][Question Description = 52_qSNz_PG_GP36_Q19]
1. Websites delivered to browser on search/=d a6 @ g2 v Reiiae & o8 daasd

[Option ID = 41348]
2. Websites that are advertised /f=fda £ o TaaEs

[Option ID = 41349]
3. Social media sites/ s ifden smst

[Option ID = 41350]
4. Websites that are not alive/q == & A = &

[Option 1D = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Quality questions promote deep learning,

Reason R: The quality of questions asked determines a teacher’s level of success with a lesson,
In light of the above statements, choose the correct answer from the options given below

ofiY 1 e Bu s ¢ wop aifdroera (Assertion A) @ wu 3 iz gzrar sas @rer (Reason R) & wa # ;
et (A) | spuraagul Yo a1 AREIH O 9err &d 8

@w1vl (R) : g 10 gusl bt spraar e & an # Dee H wwaar & vz o ity oxdt 2

IUATe Bl @ Aes #, HR Rr famedl # 3 718 saz o e Hifsre |

[Question ID = 25338][Question Description = 52_qgSNz_PG_GP36_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) Seil a7 & 4z (R), (A) & 338 s &

[Option ID = 41352]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} sz (R) Siat 7w & ga=g (R), (A) o 32t wemecm =i

[Option ID = 41353]
3. Ais true but R is false/(A) ww= &, aftcer (R) amrer &

[Option ID = 41354)]
4, Ais false but R is true/(A) s &, oo (R) = &

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

o e =1e sropa # 3P Farsr 93 @ite w dwr aneehl ?
5, 16, 51, 158, ?

[Question ID = 25339][Question Description = 52_qSNz_PG_GP36_0Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358]
4. 481
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[Option 1D = 41359]

17) Given below are two statements

Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by
23%.

Statement Il: In 12 hours, the hour hand and the minute hand coincide 11 times,

In light of the above statements, choose the correct answer from the options given below

ofidr <1 erer Ru s & ¢

were - | @ afe [eedl sera &l ceas iz disE 3 oer: 10% 2fie 20% gty &t ocdl & ol send giqwa # 23 % giy it
weret - |l 1 12 @iz 3 =@ &1 FgF iz Tere & 33 11 ar oo A Bt 3

IURID DGl @ JlelkD #, ik [u 71e faedl # A 38t 3rz @I =RIol S

[Question ID = 25340][Question Description = $2_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement || are true/=see | &z | EEl meg &

[Option ID = 41360]
2. Both Statement | and Statement [l are false/mem | dr || Sicdi areea 2

[Option ID = 41361]
3. Statement | is true but Statement Il is false/=u= | 37 &, freg = || o &

[Option ID = 41362]
4, Statement | is false but Statement Il is true/wem | spw &, Fosg e || e &

[Option ID = 41363]

18) Which of the following statements are correct?

A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25.

B. The HCF of 108, 288 and 360 is 18,

€. The least number which is exactly divisible by each one of the given numbers is called their LCM.
Choose the correct answer from the options given below:

frrafelRoa wasit a3 faar o :

A. ) qoifesi wr sporerea 500 3 sfiz Jarwr siaz 5 & MY yordt A v dwer 25 3

B. 108, 288 3iiz 360 w1 zasn Fammds 18 3

C. &t s diwaii # A gAw Fr1 gk Renfen a3 51 i ore agad Jeaacd oeard

ol f8u a1 fRepodl d A A6l S0e @l w=m difans :

[Question ID = 25341][Question Description =52_qSNz_PG_GP36_0Q23]
1. Aand B only/@aa A3 B

[Option ID = 41364]
2. Aand C only/daa A iz C

[Option ID = 41365]
3. Band Conly/sma B iz C

[Option ID = 41366]
4, Conly/a@me C

[Option ID = 41367]

19) The average of first 100 positive integers is
usct 100 s guils! @ sfiaa 8 -

[Question ID = 2534 2][Question Description = 52_qSNz_PG_GP36_Q24]
1. 50

[Option ID = 41368]
2. 51.5

[Option ID = 41369]
3. 50.5

[Option ID = 41370]
4, 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?

aetoll 3t feprrol gferera &t walt Fordt &b a1F 20 % &1 gy = forogurdt &3 it ?
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[Question ID = 25343 ][Question Description = 52_qSNz_PG_GP36_0Q25]
1. 20%

[Option ID = 41372]

2, 21%%

[Option ID = 41373]

2
3. 4185 9
183 .

[Option ID = 41374]

4. 16%%

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A. It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity
Choose the correct answer from the options given below:

T F ok O ool A Breafed¥a F A oiar A wem af &7

A. a8 RFHecAT Qo1 w1 aa S

B. @& MEHGICHT Yeo1¥ Wl o Bl 3

C. =z sifvrir eftc 3 RilRsT st 2 2

D. 53 #Aww W eI < T4 3 aeliapa Rear s 8

E. sord frwpd aifider soravwrpn & @1 anae arril 3 @8l rpoa &

ol f8u a1 fRepodl A A A6l S0e @l w=m ifans

[Question ID = 25344][Question Description =52_qSNz_PG_GP36_Q26]
1. A, Cand D only/wae A, Cam D

[Option ID = 41376]
2. A,DandEonly/sam A, D3fiz E

[Option ID = 41377]
3. B,DandEonly/®=a B, D sz E

[Option ID = 41378]
4, B, CandEonly/sgar B, C iz E

[Option ID = 41379]

22) Match List | with List Il

List | List Il
In a Square of Opposition Resultant
A, If "Some girls are shy' is True I. 'E' and 'I' propositions are Undetermined
B. If "All men are Tall' is False Il. "A’ and "Q" are Undetermined
C. If 'No crows are white' is True lil. 'E’ praposition is False; 'I' propesition is True
D. If some flowers are not fragrant® is FalsellV, A’ proposition is False; "0' proposition is True

Choose the correct answer from the options given below:

it -1 B 3t -1l @ @R iR

eyt -1 |

(rrarril & fastelt ot 3 ) (afmma)

A, =1 "y orstirar orediclt B it & I. 'E’ a7 'I" vras vy mifonfdinn &

B. a2 'mff gra ea &' S B Il 'A' sfiz 'O e &

C. o ‘oo ooban T =&l B =t & ll. 'E" rerowr=s #ienT & ' oedanrs 7idt &
D. afd ‘aze gea Fgeafdem sl E wem § IV. A’ srefarers swow & 'O" frafarerer wdt B

o) i o frredt 3 3 258t amz gfem ©

[Question ID = 25345][Question Description = $2_qSNz_PG_GP36_Q27]
Fooohion 1 B = Al E -V, Bl

[Option ID = 41380]
2. A-NLB-IV,C-1,D-1I



www.prepp.in .repp

Your Personal Exams Guide

[Option ID = 41381]
3. A-IV,B-1I,C-1,D-1

[Option ID = 41382]
4. A-1,B-1,C-1¥,D-1I

[Option ID = 41383]

23) Identify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
offal fowr o1e aad & @it S § 7

R7 1 R 1 [ L G = R B | [ P

DI Yollbiel TIC] ST 3131 &

gHfRIe, o Yollmie! Urer], S ol &

[Question ID = 25346][Question Description = 52_qSNz_PG_GP36_0Q28]
1. Fallacy of Illicit Minor/ s=mng - a1 - S

[Option ID = 41384]
2. Fallacy of Illicit Major/ =g - 3R - §M

[Option ID = 41385]
3. Fallacy of Four terms/=gwag - S

[Option ID = 41386]
4. Existential fallacy/sfrmauss 3

[Option ID = 41387]

24) When an unperceived fact is supposed in order to resolve an apparent contradiction in the presented phenomenon, which one of the following

pramanas is employed accarding to Advaitins?
o Rt Qe gean 3 REEIE S a8 T & B Rl sngeter a2 61 sapiee Ren o 3, A a8l & aaar P 8§ 3 R g o1 5@l R soan 3 7

[Question ID = 25347][Question Description = 52_qSNz_PG_GP36_0Q29]
1. Pratyaksafgr=s

[Option ID = 41388]
2. Anumara/sgme

[Option ID = 41389]
3. Arthapatti/seiof

[Option ID = 41390]
4. Anupalabdhi/ etz

[Option ID = 41391]

25) Given below are two statements

Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement |lI: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity.
In light of the above statements, choose the correct answer from the options given below

oifl o were Ru smw 3 ¢

werel - | 1 g Rigia & gitrarea 3 iRt o 3294 gan (HEl se1) gig &a &

e - || argperel Bigha @ gitrarge # sRuRKRpI 1 3g9e dad iz daa diumise [Ener o1 Jenad ool 8

IWfth el @ el J, ofld v a1 [awseal 3 2 71dl sz &1 oera i @

[Question ID = 25348][Question Description = 52_qgSNz_PG_GP36_Q30]
1. Both Statement | and Statement |l are true/oem | Az 1 St T &

[Option ID = 41392]
2. Both Statement | and Statement [l are false /e | & 1| Sl spwer &

[Option ID = 41393]
3. Statement | is true but Statement Il is false/mem | 37 &, Prog @ud |l opra 2

[Option ID = 41394]
4, Statement | is false but Statement Il is true/wem | spwa &, Fosg wem || s &

[Option ID = 41395]

26) A Network Interface Card (NIC) contains
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[Question ID = 25349][Question Description = 52_qSNz_PG_GP36_0Q31]
1. Domain address/Sa w3a

[Option ID = 41396]
2. |P address /st v2s

[Option ID = 41397]
3. MAC address/mx e 3t (3w e2m

[Option ID = 41398]
4. Port address /i g2z

[Option ID = 41399]

27) The number of bits in IPvé addressing are:
IPvé w3iiier # foael gzt 8l & ?

[Question ID = 25350][Question Description = 52_qSNz_PG_GP36_Q32]
1. 32 bitsf32 fexa

[Option ID = 41400]
2. 64 bits/64 Rca

[Option ID = 41401]
3. 128 bits/128 fics

[Option ID = 41402]
4, 256 bits/256 Rr=

[Option ID = 41403]

28) Given below are two statements regarding Wireless Access Points (WAPs).

Statement I: WAPs are connected into the wired network at fixed locations.

Statement Il; The WAP receives and transmits data between the two wired LANs,

In light of the above statements, choose the correct answer from the options given below
ARTICTH QA WEGH (Secg g Ul) & Hder 3 ol 9 e fu ome &

el - | 1 seryg w ot forerffee remell Uz Mz Yeb oicad® A S 8l &

ayepot - |l @ secy w ot o ar -~ s var ¢ oo (Sra el dicadd) @ dta 2o g s Qi o 3
e wuell @ e A, ofld Re oo Rroseal 3 31 w18 307 o armer Hife @

[Question ID = 25351][Question Description = 52_qSNz_PG_GP36_Q33]
1. Both Statement | and Statement |l are true/oem | iz | 9l e &

[Option ID = 41404]
2. Both Statement | and Statement |l are false/mem | 33 || 36 T &

[Option 1D = 41405)
3. Statement | is true but Statement Il is false/wemr | a1 &, Mreg wema I spa & |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/®ue | sera 8, Roog oeet || s 2

[Option 1D = 41407)

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:
frdicz & an 3 ofly Do Ru s E ¢

A, a1E 3o Oaca o) Rafs oz &

B. 531 Rwaa o affa o & e dazer quctt # dis ara &
C. uz fafdre wazges o 3 AsIm &

D. s3re1 sulsl iz - WRd yenleri i o fosan sn aoar &

oiial feéw s1e fAascul 3 31 il Sz @1 ada $ifae @

[Question ID = 25352][Question Description = 52_qSNz_PG_GP36_Q34]
1. A, Band Conlyf@am A, Bafiz C

prepp
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[Option ID = 41408]
2. BandDonly/gmmr Bz D

[Option ID = 41409]
3. Cand Donly/ame C afiz D

[Option 1D = 41410)
4, Aand D only/arwT Az D

[Option ID = 41411]

30) Match List | with List Il

List | ist Il
Devices xample
A, Input devices . Radio frequency identification readers

B. Direct data entryll, DVD
C. Output devices [lll. Joysticks

D. Data backup |¥. Speakers

Choose the correct answer from the options given below:

it - o et -1l A R ot ;

et -1 et -]
(Frarsdis) (3518301

4, Broh gt (verge Fasa) 1, 35 eferdiaft snRfissorer ftsaf
B. srs¥ac ¥ ved I &t &

C. Bria gl (arege Rasdia) Il siterfieast

D. 31 & - 3 IV, wefisst

=1 By o1 feesedt 3 3 718 v g

[Question ID = 25353 ][Question Description = 52_qSNz_PG_GP36_Q35]
1. A-LLB-Il,LC-1,D-1¥

[Option ID = 41412]
2. AILB-1,C-1,D-IV

[Option ID = 41413]
3, A-ILB-1,C-1¥,D-1I

[Option ID = 41414]
4. A-IV,B-1,C-1l,D-1I

[Option 1D = 41415]

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The
plant is said to be efficient, when BOD:

IR R¥rpd sfiasiisar oz (@108 arufdrse siel ontrel Feiq & DRl forourcer @ uo I3 dAdas 2 el Fiziq ©! aa Agm oal Ja & 5|9
st -

[Question ID = 25354][Question Description = 52_qSNz_PG_GP36_0Q36]
1. Increases/@eget

[Option ID = 41416]
2. Decreases/aeedt

[Option ID = 41417]
3. Remains unchanged/ ot =it &

[Option ID = 41418]
4, Increases for first 36 hours/ozer 36 521 ¥ =gl &

[Option ID = 41419]
32) Over the past 100 years, the estimated rise of global sea level is by 10 to 25 cms or more, This is attributed to which of
the following?

A. Thermal contraction of ocean water

B. Melting of glaciers and small ice caps

€. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:

feredt 100 adl & Bra d mgg v # 10 A 25 A9t =0 siftves 6 gl 810y @ sopa 3wt oo 3 -
A. werAeEr s @ adi - Agas

B. RBwerc sy org RBafdrsrd w1 Rraeron
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C. sfiortios & a@ & w5 wr amer Sten
D. >ecila srenisr 3 afvada
ol fou sre faepodl 3 3 1l st @1 ags difen ©

[Question ID = 25355][Question Description = 52_qSNz_PG_GP36_0Q37]
1. Band C only/®sa= B = C

[Option ID = 41420]
2. A,Band Conly/saa A, Bafiz C

[Option ID = 41421]
3. B,Cand Donly/@a=a B, C 4z D

[Option ID = 41422]
4, A, Cand D only/daa A, Cam D

[Option ID = 41423]

33) The main concept behind solar ponds to store the solar energy is
Hiz Fetl © 9wose o e dor disa @ Ji? g saenen 8 -
[Question ID = 25356][Question Description = 52_qSNz_PG_GP36_Q38]

1. Presence of sand in the pond/eme ¥ 5] 1 TR STt

[Option 1D = 41424)
2. Fixed salt gradient from surface to bottom in the pond/orm # v 3 v v o o Bl ool a7 oen sieT

[Option ID = 41425]
3. Uniform salinity of pond/acra & v Z00E c/aved

[Option ID = 41426)
4, Presence of solar cells in the pond/ e & Hiee 3 o7 9RED S5

[Option ID = 41427]

34) Disaster Management Act came into existence in
AIGI Yeitrel Afdiforaa foow ad aiftiforalia fosen sen ?

[Question ID = 25357][Question Description = $2_qSNz_PG_GP36_Q39]
1, 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option ID = 41430]
4. 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

C. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

SRR B 91 e @ ReaiiRan acol w1 Jerd ure smel @ agi o 3 33 ¢
A. TP iz oEas

B. sifstar

C. 8o @ aal 5ed

D. @ 3z 3

E. aw

oiial feéw s1e fAascul 3 31 il Sz @1 ada $ifae @

[Question ID = 25358][Question Description = 52_qSNz_PG_GP36_Q40]
1. B DA:B

[Option ID = 41432]
L 0y Eo BB A
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[Option ID = 41433]
3. ELC,A DB

[Option ID = 41434]
4. E,C,D, B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
sz # saraaiRias f2rgr aigrragAl # fosar - GrAiweT W JTI ©IeT § -

[Question ID = 25359][Question Description = 52_qSNz_PG_GP36_0Q41]
1. High fee structure/swa g Hmn

[Option ID = 41436]
2. Wrong perception of vocational education among students and parents/ @i oz sttt i <R Brer @ a1 3 350w a=on

[Option ID = 41437]
3. Lack of adequate infrastructure to impart Yocational education/=mrniEry fwer gzm o O Fre win seeixen o7 38

[Option ID = 41438]
4. Unavailability of large number of vocational courses/==T e i SRS WGEALl Bl JHucERT

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university
education for the maintenance of standards of teaching examination and research?

3 =it 2t sftrforaa &1 foraarferi3aer 3F 31 oot 211 ener Rrgon udien aiiz ofter & Aok Gole T&or & iy Rreafdemery g & FHatla iz swoae6 31
Hafera & ?

[Question ID = 25360][Question Description =52_qSNz_PG_GP36_0Q42]
1. Section 28/emr - 28

[Option ID = 41440]
2. Section 25/em - 25

[Option ID = 41441]
3. Section 14/ e - 14

[Option ID = 41442]
4. Section 12/t - 12

[Option ID = 41443]

38) What per cent of the children's brain development occurs prior to &6 years?
6 ad B Ry A ued sl & Aliaes o1 Reaa gitrer e 8 arar & ?

[Question ID = 25361][Question Description = 52_qgSNz_PG_GP36_Q43]
1. 25 %

[Option ID = 41444]
2. 45 %

[Option ID = 41445]
3. 65%

[Option ID = 41446)
4, 85%

[Option ID = 41447]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling.

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self.

In light of the above statements, choose the most appropriate answer from the options given below

ofta &t weer e s1w ¥ 1w Afdrseer (Assertion A) @ =a & iy gaer 3ad wieor (Reason R) & o &

sifirmeret (A) : grfiel siea & {9150 1 3T9a AR, S YIH @3e odl o afidwe o © Fapeil Brn A o3 531 sPm | sfaa @ o e wsen an
vt (R) : grdter sieediEr fdign ot gof amesser sfiz soew - gfRe vz o R

IR oLl D ICRD #, sik v kirpodl # 3 #1E1 303 1 W it ¢

[Question ID = 25362][Question Description =52_qSNz_PG_GP36_0Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) sfiz (R) &= = & sz (R), (A) 4 = == &

[Option ID = 41448]
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| 2. Both A and R are correct but R is NOT the correct explanation of A/ {A) &y (R) it 58 & mowg (R), (A) &1 58 o @@ 8

[Option ID = 41449]
3. Ais correct but R is not correct/(A) =i £ ueeg (R) =t =i &

[Option ID = 41450]
4. Ais not correct but R is correct/{A) 2t =2 8 vreg (R) =2 2

[Option ID = 41451]

40} Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement |l: Values needed for sustainable development cannot be taught in a school setting,

In light of the above statements, choose the most appropriate answer from the options given below

ofter <1 oo Ru amw & ©

@ere - | 1 Jo - T & fom rapw sl sicauesl @ FRde Ploriifaa stz gfaanfra gem smasads 2 2
werel - 1| ;A s @ e araess Pe Faelt arrazor # a1l Brand o aod &

FURD wersll @ el 3, il Ry famedl # 31 #A Faz o aere Hifsw

[Question ID = 25363][Question Description = $2_qSNz_PG_GP36_Q45]
1. Both Statement | and Statement |l are correct foeem | iz || S 52 &

[Option ID = 41452]
2. Both Statement | and Statement Il are incorrect/wmem | i || Sl oot &

[Option ID = 41453]
3. Statement | is correct but Statement Il is incorrect/wem | 22 &, fireg e || 7ma 2

[Option ID = 41454]
4, Statement | is incorrect but Statement [l is correct/wem | 7 2, Freg oo |l =2t 8

[Option ID = 41455]

Topic:- GP36_D1_SH1_SetZ_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action, For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr,
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

frrafilan smie @ samgde ug iz ol B s1e gra o 3w & ¢

AFU & P Ulel AT g3 A To6l & YErA D w4 3d "R siast B caRen ol ©f YuA ol 8 a1 ofl a1 6 B 2 i[5 gEai as
gest goenr § B 3t & s s forn ste B wopen o 32odl ait gra w6y w gara wrar 8, afver gy anwn s B B as Yan a4l daar § /B
fepalt aps Rl © T A g oa Dt Fivaen 2 sl aca oRf o A Jfl 3 g w2 e oo Rae ol Rear sem oo #aesa &
w01 o ARlcofer sad] T SE 2 a9 A8 Qo 3o @ s sud ura adl fafine aiaiesan B3 E S aud um & anlfes waref @1 figia
? Aiibol #olwI Ao MR @ woiRI Rl oo w3t 3t sruel @A &6l ubspouon B3 ween & e, a1 yiemol, = gara &l 5901 a1 siuee a0 A
r3Y arrenfdify @ar siran 3 ? Ao sruclt 3en & uftecuon 3 o3 E, d gfdmor fiod Ao 2, & gyd @ Higcll o Oal D3 oRIk §, AT
e w1 aftrgrr o 3 Bredbt & By et ¥ 7 wa, oom, s, sasia, dvson, oty Riguren Brats wa d oo aftd § Bera 9fva fos
Pl B T3 E 501 3593l ol Y Dol &bl AEs Yghva &l Awdl  dikbal 329a @1 ®13 il oere a1 321 Y ool &I ggiveil &1 @1F avfa
afyoreft wrase & varwear @8 ©F Aoar 8 as o2y 5 ager arasdger o3 E S s @ o wga 3 B 3ol sl - arenazor aen dae @
dar3 3 Jorcbl anbyr yiern Jord kenz, siraen 3z Remn 3 forabo ava il 8 3oeem @ e ale araficem iz #ama aeResn @ i d9er
gragl iz afgaiorT Elol & IelRT Yeragl 301 avolel ekl 8 ol siforvfa iz fawerar o1 aar o/l aden iz (Al 83 31 ydo «aftp dmnz 3 soell
Fidbtolar @ @y 35 ¥51 8 SiA By oo acan ool 3 vean ), off gaild oif ot @s ol war i iy sraat sif¥ava & guw & s & yenar B it Ao
34 ze Sip A o A e § S &1 v dien o

What is the main issue when man pursues hedonistic goals?
oG AT PIAE 3291 DI YIH ol BT YR Bl & d HIA HET o= SRl & 7
[Question ID = 25364][Question Description = $2_gSNz_PG_GP36_0Q46]
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| 1. Seeking pleasure self/zaa 3= anaan

[Option ID = 41456]
2. Single course of chofce/mwe R

[Option ID = 41457]
3. Multiple preferences/a@is grerfimrans

[Option ID = 41458]
4. One's own conscience/oaRr o =R O AT

[Option ID = 41459]

2) Read the given passage and answer the gquestion that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has., The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action, For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

fBrrmferf3ae sraxior o) saragde ug iz oA Be s1e g wr sz 8 ¢

MY & Y& ulel diz @ 3 gae © YAA D w9 # HAD siide Of Il @eel O Y oxd & ana ofifg Az o 2 gy fr gaardt @6
grsl gl 2 6 arct &t 1 el Ren Se 5 AopeT so1 389l Y YIA Dol ol YR DIl 3, cifdbel QI JHF 6 & i ag ben o=t Hierm 2 6
Rosft e il ® wsa A Jm Broa &t sinmen 2 safl sma oR o 3 Jd 59 goa we 3" o e oidl Roar srm 8 o #eea
w1 o1 Akcofel sadhl T o 2 a9 A8 Qoo Iod @ s auad ura adl fafine aimieszor B3 E S aud am & anlies waref @1 g
? dftvw Age oy T @ e Rt oo afld A sraet RBa & afYweaen @39 wwar B e, ar giteon, @ garra R s W sas O A
foraY aneaf3ify el arar & ? Aagsa e gren &l ufiecaal &3 o 8, a gives! el Aed €, 9 Qv © g6l ©I Udl B3 TPl 3, a1
3 ol fdrgrr o ¥ Bradht & B aeh ¥ ? wwm, g, simoen, susia, e, afy, Brgurn Brats v A o aftd § Bod Ofya dos
cllel ORI @ & Fol Il @l Y Dol Bl Assl Ygite 8 Aaedl & dRkpol 389 @ @ 31l wus a1 331 YA @30l 1 ggitril © @8 avla
afyuraft wraerz Bl e oidl @ Wbl 8 A8 2 15 AelsI dvdlcddv] S 8 St 33 ara ol ga 2 &6 sord amnrft - ararazo aeon Jar &
ar 3 Jorbt ainfye graftrn s frae, swaenr iy fger 3 Brafxe aca 86 8 Soswor o Re ot aeafrrar siiv aera sefien @ da wge
MYrael iz g Bl @ TR Yras 31z deablol 8ie & dl o sz fanpaar @1 umr st oo itz (Al &6 3 e =aits dae 3 saeil
Fidbtolar @ e 35 ¥51 8 SiA 5 oo acan ool 3 vean ), off gaild oif ot @s ol war Al Yy sraat af¥ava @ guw & s & yenar TS ot Ao
I 36 St A P ol Wl § Si Wl v i oI &

A man's course of action is guided by
#ea R Roerads g1 saekcRfa akd 8 7

[Question ID = 25365][Question Description = 52_qSNz_PG_GP36_Q47]
1. Collective action/¥mys Rizn g1

[Option ID = 41460]

2. Critical evaluation of choices/Rrrrl o spitsirery friwa gR1
[Option ID = 41461]

3. Pursuit of self-interest/7m@ef g

[Option ID = 41462)
4. The thought of social welfare/smfoes seanr & ez grr

[Option ID = 41463]

3) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
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Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

fogateifian =il o tamegde ug iz oA v a1e g o1 saz dfem @

HSY 50 TH amel A7 gm A gad D grra @ Fa # Aenfee shast B sarwar et o g wEd § s ofly as ws B 89 B gaad as
et g & R s &t w1 aimer e wre s sieer 391 329/l @l I @0l BT YR DI &, clidbol YA I 4 & e a6 0w o=l Hiaer 2 Ry
ozl 2y ot & Dol 3 I Prerol S FAvraen 2 SEfe sea SR oY A ol T 9ol U e o faee aIEl b sRn 2 T Ao &
T 1 APicelel $3h! Wl Wl & o9 U6 UPe J3adl & b 33 urA ol fafdree simaeor @A 3 ol 39 wiw §  anifo ot @t fhaga
? oifibot Ao e kD B g [l ve afld A Juel 2a &l ulkoruen B3 wen & F2em, A1 gideor, A gyrd &l 591 A1 3puse WU H
fora soewmbiify war s ¥ 7 werea arasht wran R afvweaenr 3 o B, ¥ gfersor R wed 3, @ qufra @ AreE w1 aon O @ §, A
3TeH w1 AFgRT w=n g RBrewbt a fafy et § ? 3w, gm\, simwewn, suea, sz, gy, B Brscs wu 3 oo ol 3 RBiea Qi skoe
ciel ORI @ E ToT 32931 @ QA @0l Bl Hes yghr 8 wwddl 8 didnol 329a ol @1F il S a1 ¥ g @l &l yghrl o1 @If gulsr
uRviEl <asr Bl carca il @2 Wl & a8 A R Ags araredavT w3 § Sl 339 9 @l H9d & Kb oD ARl - armav Al HAR W
qi: 3 Jorchl Aaf¥e g sad e, snaon iz kKear i forafre mra didl 8 3cesun & fae afe areafasar iz Ao sgikpar & dia dde
sgeast iz sopnfora Bl @ won Yeag Ak acwra siar § al sfewla sy freanar o aar a8l adesn Az (@l sad A gods safts dane # soeh
FHDIUIAL @ ATY 36 301 & 513 R o acon =0 3 3gan §), off aal vif of as ot @ar g [r st alRvra @ gaa «il #iis @ e o s Jefesr
39 a%g 3 A o o I § SR &1 v dier oar 2

The thoughts of men are decided by
H=it & fran: foeads wra foraifya 2R 2 7

[Question ID = 25366][Question Description = $2_qSNz_PG_GP36_Q48]
1. Their environment/sod TFIRRT SR

[Option ID = 41464]
2. Their behaviour /o =maEE @

[Option ID = 41465]
3. Societal tendencies/amisee gaitel g

[Option ID = 41466]
4, Their inner perception of the world/ZaE © o2 # sorb FmiE e g

[Option ID = 41467]

4) Read the given passage and answer the guestion that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr,
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

frafeilan smie @ samgde ug iz ol B s1e ga o 3me & ¢

ATEU &3 A Ulel 3T g A gucl @ YEIA @ 4 3 JEe siiast S caRen ol ©f YuA o0 8 a1 oy @ T B 2R i[5 gEai as
gest goenr § B 3t & s wer e ste B wopen o 3ol it gra w6y w garA wrarn 3, afser gy wwawn s B g Y ol daar § /B
fepat agps Rl O T A g oa Dt divaen 2 sl o oRl o A Jf 33 g w2 3 oo Rane ol Rear sem oo dasa &
w01 o1 AEkcofel Tad] TR SF 2 a9 A8 Qo Iod @ s suad ura adl fafdne aiaiesan B3 2 S aud um @ anffas waref @1 Bigia
? Aol #gwI Aol MR © woIRI Rl wop w3t 3t siuel @A Bl ufspouen B3 ween & e, a1 yiemor, =0 gava &l 5701 a1 sivuee wa A
for3Y arrenfiify @1 sirar 3 ? Aigisa sl 3en & uf¥wcuon B3 o3 B, d gfimor fiod Al 2, & gyd @ el o Oar D3 oRIk 8, AT
ey w1 aftrgrr o 3 Bredbt & By et ¥ 7w, oom, simwer, sasia, deson, afy, Riguren Brats wa A oo afid § Bera 9fya fos
Pl &R Tl E 301 3593l Bl Y Dol bl AEs Ygha &l Awdl  dikbal 329a @1 ®3 il oere a1 321 Y ol &I ggiveil @ @18 avfa
afyuraft wraerz Bl e oidl @ AGAl 8 A8 a2 16 AelsI dvdlcadv] S 8 St 33 ara I Hga 2 &6 gord st - ararazr aen Jar &
dar3 3 Jorcbl arabyr iR Jord kienz, sirgen 3z Remn d frabo ava 3l § 3ceem & e afe araficem iz #ma aeRosn @ i J9er
Aqgragl iz AgierT Elol @ IslRT Yearel 301z davoplel ekl 8 ol siforvfa iz fawerar o1 aar o/l aden iz (Al z83 3t Yo «afip dmnz 3 soell
Fidbtolar @ ey 35 ¥51 & SiA 5 oo acar ool 3 vean 3), off gaild oif ot @s ol war &l iy sraat sf¥ava & g & s & yenar B it Ao
33 712G B A B gl Bl & A bl o UL ol &

If the connect between reality and human response is direct, it will result in
Afe anafiear stz AoE ke o dia Fisa grast g g, df 3301 ufvma gem -

[Question ID = 25367][Question Description = 52_qgSNz_PG_GP36_0Q49]
1. Self-realisation/sncafiifs

[Option ID = 41468]
2. Acquistion of prestige/gfém w1 sursm
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[Option ID = 41469]
3. Successful actions/zwe Koo

[Option 1D = 41470)
4, Useful theorisation/swisl Brgelem

[Option ID = 41471]

5) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has, The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

ferraferfiae srerior o earagds ue iz ofa v s19 gea o1 saz 4w @

3ST o9l FHE UE 37 g3 A Tu0 & YRR D w4 3 ARRs sikae & carsar el o yaEt o £ Ima ofig as o # 89 By gEmad! G
grsl geen 2 i arct &t 1 el Rrn ww {5 Aoyt so1 359l Y YIA Dol ol YR DIl 3, cifdbel g JH=m 316 & 6 ag Yen =it Hierm 2 &6
Rosft e ©orl o wsa A = Broa &t sinmen 2 safl sma oR we 3 Jdt 39 9o e 3 oo e oidl Roar srn € o #aesa &
Marwszor o1 APicola sad! ca oI E a9 A8 gl 3ol ¢ b 3ua ura adl faldree simasaor B3 E A sud ua § e Faret @t Bigia
? dftvw gy oy T @ ot Rt oo afld A sraot Ba & afvwegen 99 wwar B e, ar giteon, @ gerra R woon W spas g A
f3ra aneaBRite et aien 3 7 Ads arasit s Bl ulveoaon B3 @ §, 4 giersor Redt Aeid E, O Wi @ AEEI @l Ul D oend &, Al
o o1 AfigRL @=n 2 B! a Bty aen € 7 g, g, aimaevl, Junla, Higm, afg, fomgurm forsite wu 2 oo afla E faerdY Ui g
cilel Rl w3 & Fol I8¢l @l YId @l &l Aesl Yygitrl a1 Jwdl & dikbsl 3599 @1 wIF 91l el A1 331 YA @3l &1 ygivTrdl © wid avls
ubieEl caask Bt carca ol @ Awdal 2 Ae Ao o Ags araeduvl ol § Sl 33 ard ol Hga & Kb e el - arraenn aen daR &
ar 3 orht ainfye graftrn s e, saonr v Ry 3 Brafyxe ara &6t 8 Soswor o Re alt areafrsar siiv aera sefaen @ da wge
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The gist of the passage is that the human behaviour is dictated by
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[Question ID = 25368][Question Description =52_qSNz_PG_GP36_Q50]
1. The harsh realities of the world /s 6t oo asakroms g

[Option ID = 41472]
2. Choices for pleasure/ gz & famreat g

[Option ID = 41473]
3. Seeking smugness in a false world/fear Ser #§ Fdbvlar s g

[Option 1D = 41474]
4. Emotional vagueness,/ WmrAD @0l ST

[Option ID = 41475]




